Top ten wrong Physics and wrong Physicists 

By Professor Joe Nahhas; Joenahhas1958@yahoo.com 
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                                                                                               Einstein
Modern physics is based on optical illusions and these are the formulas of optical Illusions that explains it all
And mass m = m (0) e ỉ ω t; distance r = r (0) e ỉ ω t; time Γ = t e ỉ ω t        
And ω t = arc tan (v/c)        
Real time
We can not see or measure something that did not happen. 
We can only see or measure something that had happened. 
What we measure is not what happened. 
We measure in present time an event that happened in past time. 
That is we measure past events in present time      

Present time = present time

Present time = past time + [present time - past time]

Present time = past time + time delay (difference)
Real time physics = event time physics + real time delay physics

Quantum = classical + time delays (relativistic)

 Naming Γ as real time and t as event time 
Γ = t + (Γ - t) = t [1 + (Γ – t)/t] = t (Γ/t)                                                                                         

Γ = t + Δ Γ
Δ Γ = Γ - t 
If an event happens on Planet Mercury and the event is seen from the Sun at event time t, then this same event would be seen from Earth in real time as time Γ = t + Δ Γ; Γ = t + (Γ - t)                                                                                             

Real time = Event time + time delays

Γ = t + Δ Γ (x) + ỉ Γ (y) = t + Δ Γ
Δ Γ = Δ Γ (x) + ỉ Γ (y)                                                                                             

Δ Γ (x) is along the line of sight time delays

Δ Γ (y) is perpendicular to the line of sight time delays
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Γ = t (Γ/t)

Γ = t e ỉ ω t; Γ/t = e ỉ ω t; ω t = arc tan (v/c)

Γ = t e ί θ; θ = arc tan (v/c)   
Γ = t [cosine ω t + ỉ sine ω t]

Γ = Γ (x) + ỉ Γ (y) = t cosine ω t + ỉ t sine ω t

Γ (x) = t cosine ω t = t {1 - 2 sine² [(1/2) arc tan (v/c)]}

Δ Γ (x) = Γ (x) - t = - 2 t sine ² [(1/2) arc tan (v/c)]

Δ Γ (x) = - 2 t sine ² [(1/2) arc tan (v/c)]

Γ (y) = sine ω t = sine arc tan (v/c)

Δ Γ (x) = - 2 t sine ² [(1/2) arc tan (v/c)]

Δ Γ (x) /2 = - t sine ² [(1/2) arc tan (v/c)] seconds

And using the 1/2 cycle measurements  
Where t = 100 years = 100 x 24 x 3600 seconds

Δ Γ (x) = - (100 x 365.26 x 24 x 3600) sine ² [(1/2) arc tan (v/c)] 
With v* = orbital speed and vº = spin speed
And v = [v* (m) +/- vº (m)] (Mercury) – [v (e) +/- vº] (Earth) 

= (47.9 – 0.002) km/sec – (29.8 km/sec – 0.465km/sec) = 18.565 km/sec

And c = light velocity = 300,000 km/sec
In ½ period and in arc per second 
Or W" = (15) Δ Γ (x) = (7.5) t sine ² [(1/2) arc tan (v/c)] arc seconds

W" = 15 x 100 x 365.2624 x 24 x 3600 x sine ² [(1/2) arc tan (18.565/300,000)]    

     = 43.0" arc seconds per 100 years

Δ Γ (x) = - 2 t sine ² [(1/2) arc tan (v/c)] in seconds
A century t = 100 (years) x 365.26 (days) x 24 (hours) x 3600 (seconds)

In second per century

Δ Γ (x) = - 2 (100 x 24 x 365.26 x 24 x 3600) sine ² [(1/2) arc tan (v/c)] 

arc second per century

Δ Γ (x) = - 30 (100 x 24 x 365.26 x 24 x 3600) t sine ² [(1/2) arc tan (v/c)]  
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In arc per century using ½ cycle

And v = 47.9 – 29.335 = 18.565 km/sec  

With c = 300,000 km/sec

Δ Γ (x) = - 15 sine ² [(1/2) arc tan (v/c)] (100 x 24 x 365.26 x 24 x 3600)  

Δ Γ (x) = - 15 sine ² [(1/2) arc tan (18.435/300,000)] x 
              (100 x 24 x 365.26 x 24 x 3600)  

         = 43.0 arc sec per century 

For Venus v (Mercury) = 35.1 km/sec 

And [v* (Orbital speed of Earth) - v° (Spin speed of Earth)] = 29.8 - 0.465  

Or, [v* (Orbital speed of Earth) - v° (Spin speed of Earth)] = 29.335 km/sec 

And v = 35.1 – 29.335 = 5.765 km/sec  

With c = 300,000 km/sec

Δ Γ (x) = - 15 sine ² [(1/2) arc tan (v/c)] (100 x 24 x 365.26 x 24 x 3600)  

Δ Γ (x) = - 15 sine ² [(1/2) arc tan (5.765 /300,000)] x 
              (100 x 24 x 365.26 x 24 x 3600)  

         = 4.37 arc sec per century 

Using full cycle

Δ Γ (x) = - 2 x 15 sine ² [(1/2) arc tan (5.765 /300,000)] x 
              (100 x 24 x 365.26 x 24 x 3600)  

         = 8.74 arc sec per century 

It published literature both numbers, 4.37 arc sec per century for ½ cycle and 8.74 arc sec per century for full cycle are given without an explanation  

Astronomers use 1/2 cycle

Then (Γ - t)/2 = - t sine² {[arc tan (v/c)]/2}; If v << c 

Then (Γ - t)/2 = - (t /4) (v/c) ² seconds per 100 years in 1/2 cycles

And (Γ - t)/2 = - 15 (t /4) (v/c) ² arc seconds per 100 years in 1/2 cycle

                    = 3.75 t (v/c) ² arc seconds per 100 years in 1/2 cycle

With t = 36526 x 24 x 3600 seconds in 100 years
Δ Γ (x) = (Γ - t)/2 = 3.75 x 36526 x 24 x 3600 (v/c) ²
If we are using full cycle 

Δ Γ (x) = - 2 t sine² {[arc tan (v/c)]/2}; If v << c 

Then (Γ - t) = - 2 (t /4) (v/c) ² seconds per 100 years in 1/2 cycles
And (Γ - t) = - 30 (t /4) (v/c) ² arc seconds per 100 years in 1/2 cycle

                = 7.5 t (v/c) ² arc seconds per 100 years in 1/2 cycle
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With t = 36526 x 24 x 3600 seconds in 100 years

For Mercury: (Γ - t)/2 = - 3.75 x [36526 x 24 x 3600] x (18.1/300,000) ² 

                                   = - 43.0 arc sec per century

(Γ - t) = - 7.5 x [36526 x 24 x 3600] x (18.1/300,000) ² 

                                   = - 86.0 arc sec per century

For Venus Velocity instead of Earth's Velocity 

That is: 35.1[Venus orbital speed] + 6.52 [Venus spin speed] - 29.8 
= 11.82 km/sec 

Half - (Γ - t)/2 = - 3.75 x [36526 x 24 x 3600] x (11.82/300,000) ² 
= 4.592821605 

Of arc sec per century

Full (Γ - t) = - 2 x 3.75 x [36526 x 24 x 3600] x (11.82/300,000) ² 
= 9.18654321 arc sec per century

If a bicycle is ridden in a circular orbit of origin O and radius r making an angle θ from a fixed starting point A and going counter clock wise direction at a circular speed v then the angular speed of the bicycle is the angle change measured d θ the bicycle traces from the fixed starting point A divided by time interval d t it travels or the angular speed is:
The angular speed is θ' = d θ/ d t = orbital velocity/ radius = v/r

[image: image10]
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If Planet Mercury is at a distance r (m) from the Sun and rotating around the Sun with orbital speed v (m) and making an angle θ (m) from fixed point A, then planet Mercury angular velocity around the Sun:

Is θ’ (m) = v (m)/ r (m)   

With r = planet average distance from the Sun
And v = planet average speed around the sun

And θ = the angle traced by a planet from a fixed point when moving around the Sun.

And θ’ = angular speed of a planet moving around the Sun

With r (e) = Earth – Sun distance and r (m) = Mercury – Sun distance

With v (e) = Earth orbital speed around the Sun

And v (m) = Mercury orbital speed around the Sun

If we to measure the angular velocity of Planet Mercury from the Sun while planet Mercury moving around then Sun then, Planet Mercury Angular speed 

Is: θ' = v (m)/r (m) 

[image: image11]
If Planet mercury, m, orbital speed is to be measured from the Sun, S, then planet mercury orbital speed is θ’ (m) = v (m)/ r (m)

If Planet mercury, m, orbital speed is to be measured from the Earth, e, then planet mercury orbital speed is θ’ (m) = [v (m) + V (e)]/ r (m)
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Real time mechanics = absolute time mechanics + time delays mechanics 

Then, θ’ = [v (m) + v (e)]/r (m) = v (m)/r (m) + v (e)/r (m)  

And not v (m)/ r (m) 

The angular speed delay is:  d θ' = v (e)/r (m)

Taking into account Earth rotation vº (e) then

With v (m) = 49.7 km/sec and v (e) = 29.8 km/sec

And taking into account Earth rotation vº (e) then

Then the angular speed delay is 

W = d θ' = [v* (e) +/- v º/r] = [(29.8 km/sec) – 0.465km/sec]/ (58.2 x 106km) 
W = (29.335km/sec)/ (58.2 x 106km) radian/second

In arc second per century multiplying by [(180/π) (3600) (26526/T)]

W (arc – sec /century) = [v* (e) +/- v º (e) /r (m)] X [(180/π) (3600) (26526/T)]
Or

W (arc – sec /century) = [v* (m) +/- v º (m) /r (e)] X [(180/π) (3600) (26526/T)]
X [r (e) - r (m)]/r (m)

W (arc – sec/century) = [(29.335km/sec)/ (58.2 x 106km)] 

                                X [(180/π) (3600) (26526/T)] 

                                = 43.1 arc second per century
This angular speed delay is a real time angular delay due to motion. Physicists call the 43.0 seconds of an arc delay is caused by time travel and it is presented as the first experimental proof of general relativity theory.

	Planet
	Distance r

X 106km
	Planet

Orbit T
	Orbit speed v in km/sec
	Less Earth speed
	Spin speed

km/sec
	Angular velocity; v/r 

arc sec/ century

	Mercury
	58.2
	88
	47.9
	18.1
	.002
	70.29

	Venus
	108.2
	224.7
	35.05
	5.7
	6.52
	10.86

	Earth
	149.6
	365.26
	29.8
	
	.46511
	4.1

	Mars
	227.936
	687
	24.14
	
	0.2411
	

	Jupiter
	778.412
	4333
	13.06
	
	12.6
	

	Saturn
	1,426.725
	10760
	9.65
	
	9.87
	

	Uranus
	2,870.97
	30690
	6.80
	
	2.59
	

	Neptune
	4,498
	60180
	5.43
	
	2.68
	

	Pluto
	5906.4
	90730
	4.74
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For planet Venus
 T (Venus) = 224.7days

For planet Venus
W"(v) = [v (e)/ r (v)] [36528/T (v)] (180/π) (3600) = 9.0"/century

The Angular velocity delay/ Planet Venus is v (e)/r (v) = [v* (e) +/- v° (e)]/r (Venus) 

With T (v) = 224.7, v (e) = [29.8 km/sec - 0.465 km/sec]; r (v) = 108.2 x 10 9 m    

W"(m) = [v (e)/ r (v)] [36528/T (v)] (180/π) (3600) = 9.0"/century

W"(v) = [(29.8 – 0.465)/ 108.2 x 10 6] [36526/224.7] (180/π) (3600) = 9.09"/century

The number 43.0"/centuy is taught and advertised as the First experimental proofs of space –time confusions of modern physics and dearest to Einstein's general relativity theory.  

If this visual Illusion is to be transferred to the Sun it will be seen as follows

Actual value is θ' = v/r = [v (m) + v (M)]/r

Where m = mass of primary; M = mass of the secondary

And v (m) = √ [GM²/ (m + M) a] 

And v (M) = √ [GM²/ (m + M) a] 

And v (m) = √ [GM²/ (m + M) a] + v (M) = √ [Gm²/ (m + M) a] 

                  = √ [G (m + M)/ a] 

And θ' = v/r = [v (m) + v (M)]/r
          = √ [G (m + M)/ a³] Radians per seconds

In degree per century

Then θ' = {√ [G (m + M)/ a³]} x (180/π) (36526/T)

Mercury Advance of perihelion motion solution

With m = 0.23 x 10-6 M (0) and M = 1 M (0); G = 6.673 x 10- 11; a = 58.2 x 109 m

And M (0) = 2 x 1030 kg; R (0) = 0.696 x 109 meters; T = 88 days  

With θ' = {√ [G (m + M)/ a³]} x (180/π) (36526/T) (3600) arc sec/century

Then θ' = {√ [6.673 x 10- 11 x 2 x 1030]/ (58.2x109)³]} (180/π) (36526/88) (3600)

            = 43.0 arc sec per century

Venus Advance of perihelion motion solution

With m = 4.868 x 10-6 M (0) and M = 1 M (0); G = 6.673 x 10- 11; a = 108.2 x 109 m

And M (0) = 2 x 1030 kg; R (0) = 0.696 x 109 meters; T = 224.7 days  

With θ' = {√ [G (m + M)/ a³]} x (180/π) (36526/T) (3600) arc sec/century

Then θ' = {√ [6.673 x 10- 11 x 2 x 1030]/ (108.2x109)³]} (180/π) (36526/88) (3600)

            = 9.0 arc sec per century
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Kepler's speed laws told us about this mistake
Or, r (1) θ'² (1) = r (2) θ'²(2) = location x speed = constant 
                                        = Areal velocity
Or, θ' (1) = {√[r (2)/ r (1)]} θ' (2)

And θ' (1) - θ' (2) = {{√[r (2)/ r (1)]} - 1} θ' (2)
Δ θ' = {{√[r (2)/ r (1)]} - 1} θ' (2)
This is the angular time delay and will be seen as angular visual Illusion
The angular speed is θ' = v/r

For Mercury:  θ' = v/r = (47.9km/sec)/58,200,000 km = 0.000000843 radians/sec

If you want the accumulation value in arc sec /century W", then

And W" = (v/r) (180/π) (3600) (26526/T) = angular velocity in arc sec per century. If it is measured for planet Mercury then 

W" = (47.9/58,200,000) (180/π) (3600) (26526/88)

W"= 70.29 arc second per century

Or, Δ W" = {{√[r (2)/ r (1)]} - 1} W" (2)
What is the angular visual Illusion for planet Mercury that would be seen when measured from Earth with Earth location r (1) = Earth = 149.6 x 106
And r (2) = Mercury = 58.2 x 106

And W" (2) = - 70.29 arc sec /century

Δ W" = {{√[r (2)/ r (1)]} - 1} W" (2)
Δ W" = {{√ [149.6/ 58.2]} - 1} [-70.29] = 43.0" arc per century

For Planet Venus

What is the angular visual Illusion for planet Mercury that would be seen when measured from Earth with Earth location r (1) = Earth = 149.6 x 106

The angular speed is θ' = v/r

For Venus:  θ' = v/r = (35.1km/sec)/108,200,000 km = 0.000000324 radians/sec

If you want the accumulation value in arc sec /century W", then

And W" = (v/r) (180/π) (3600) (26526/T) = angular velocity in arc sec per century. If it is measured for planet Venus then 

W" = (35.1/108,200,000) (180/π) (3600) (26526/88)

W"= - 10.87687234 arc second per century

Or, Δ W" = {{√[r (2)/ r (1)]} - 1} W" (2)
What is the angular visual Illusion for planet Venus that would be seen when measured from Earth with Earth location r (1) = Earth = 149.6 x 106

And r (2) = Venus = 108.2x 106

And W" (2) = 10.87687234 arc sec /century

Δ W" = {{√[r (2)/ r (1)]} - 1} W" (2)
Δ W" = {{√ [149.6/108.2]} - 1} [-10.87687234] = 4.16 arc per century

Page 8

Another way is: To T²/a³ = 4 π²/ G (M + m) 

That is Kepler's measurements data are centered from the sun and Newton's data are centered at the center of mass and this would explain this mistake like this:

T² (1)/a³ = 4 π²/GM and 

T² (2) /a³ = 4 π²/G (M + m)

T (1) = T (2) √ [M/ (M + m)] 

And 2π/ T (1) = [2 π/ T (2)] √ (1 + m/M)

And θ' (1) = θ' (2) √ (1 + m/M) 

And θ' (2) = θ' (1) /√ [1 + (m/M)] ≈ [1 - m/ (2M)]

This approximation was not on the original work 

And θ' (2) - θ' (1) = θ' (1) [1 /√ [1 + (m/M)] - 1]

And θ' (2) - θ' (1) ≈ - θ' (1) (m/2M) = - [2 π/T] [m/2M) = - π m/MT radians/T

W " (calculated) = [- π m/MT] (180/π degrees) (3600 seconds) (36526 century); T = days; m = 0.32 x1024 kg; M = 2.0 x1030 kg; T = 88 days

W' (calculated) = (-180 x 36526 x 3600/T) (m/M) = 43.0" seconds of arc /100 years
   All there is in the Universe is objects of mass m moving in space (x, y, z) at a location 

  r = r (x, y, z). The state of any object in the Universe can be expressed as the product 

S = m r; State = mass x location: 
P = d S/d t = m (d r/d t) + (dm/d t) r = Total moment 

   = change of location + change of mass

  = m v + m' r; v = velocity = d r/d t; m' = mass change rate

F = d P/d t = d²S/dt² = Total force

   = m (d²r/dt²) +2(dm/d t) (d r/d t) + (d²m/dt²) r

   = m γ + 2m'v +m" r; γ = acceleration; m'' = mass acceleration rate

In polar coordinates system

r = r r (1) ;v = r' r(1)  + r θ' θ(1) ; γ = (r" - rθ'²)r(1) + (2r'θ' + r θ")θ(1)
r = location; v = velocity; γ = acceleration

F = m γ + 2m'v +m" r
F = m [(r"-rθ'²) r (1) + (2r'θ' + r θ") θ (1)] + 2m'[r' r (1) + r θ' θ (1)] + (m" r) r (1)
 = [d² (m r)/dt² - (m r) θ'²] r (1) + (1/mr) [d (m²r²θ')/d t] θ (1) 

= [-GmM/r²] r (1)   ------------------------- Newton's Gravitational Law

Proof:

First r = r [cosine θ î + sine θ Ĵ] = r r (1)

Define r (1) = cosine θ î + sine θ Ĵ 

Define v = d r/d t = r' r (1) + r d[r (1)]/d t

              = r' r (1) + r θ'[- sine θ î + cosine θĴ]

              = r' r (1) + r θ' θ (1)
Define θ (1) = -sine θ î +cosine θ Ĵ;

And with r (1) = cosine θ î + sine θ Ĵ

Then d [θ (1)]/d t= θ' [- cosine θ î - sine θ Ĵ= - θ' r (1)  
And d [r (1)]/d t = θ' [-sine θ î + cosine θ Ĵ] = θ' θ (1) 

Define γ = d [r' r (1) + r θ' θ (1)] /d t

              = r" r (1) + r'd [r (1)]/d t + r' θ' r (1) + r θ" r (1) +r θ'd [θ (1)]/d t

            γ = (r" - rθ'²) r (1) + (2r'θ' + r θ") θ (1)
With d² (m r)/dt² - (m r) θ'² = - k/ r² Inverse square Gravitational   (1)   
And d (m²r²θ')/d t = 0                            Kepler's law                      (2)                                          

At Perihelion: d² r/d t² - r θ'² = - GM/r² = - r θ'²; d² r/d t² = 0

Then   r θ'² = GM/r² 

A quick answer by Newton would be: First θ' ² = [GM/r³] Kepler's findings
Frames are related by the quotient of their velocities θ = arc tan (v m/ v n) and the advance of perihelion is the opposite of the Michelson experiment or the quantity tan θ = (v m/ v n) = [(v* +/- v°)/ (v**)] = Earth speed and spin/Mercury speed and spin

Advance of perihelion Period is given by:

Kepler's equation: 
And ω² = [GM/r³] [(v* +/- v°)/ (v**)] ² 
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In arc sec / century

Then ω = {[GM/r³]} 1/2 {[(v* +/- v°)/ (v**)]} [(180/π) (3600) (36526/T) = 43"/century

G = gravitational constant; M = sun mass; r = Mercury - Sun distance

Where v* = orbital speed of earth; v° = spin speed of earth

And v** = orbital speed of observed Planet 

Then ω = {[GM/r³]} 1/2 {[(v* +/- v°)/ (v**)]} [(180/π) (3600) (36526/T) = 43"/century

For Planet Mercury

ω = {[6.673x x10 -11x 2 x 1030/ (58.2x109)³]} 1/2 {[(29.8 - 0.465)/ 47.9]} = [(180/π) (3600) (36526/88) 
 = 43.0 “/century
For planet Venus
ω = {[6.673x 2 x 1030/ (108.2x106)³]} 1/2 {[(29.8 -0.465)/ 35.1]} [(180/π) (3600) (36526/224.7) 
= 9.0”/century
The conclusion is

With ω = 2 π f = 2 π /T angular frequency in event time

And ω (real time) = ω (event time) + Δ ω
Δ ω = ω (real time) - ω (event time) 

= 2 π f [v* (e) +/- vº (e)] / [v* (m) +/- vº (m)] 
= 2 π f Z; Z = [v* (e) +/- vº (e)] / [v* (m) +/- vº (m)] = red shift

And ω = 2 π f (1 + Z)  
The Advance of Planet Mercury Perihelion is 2 π f Z = 2 π Z/ T
Δ ω = (2 π/T) [v* (e) +/- vº (e)] / [v* (m) +/- vº (m)]
In arc seconds per century: Multiply by: (180/π) [36526/T (days)] (3600) 
And Δ ω = [2 π / T (seconds)] [v*(e) +/- vº (e)] / [v* (m) +/- vº (m)] x
               (180/π) [36526/T (days)] (3600); 

T (seconds) = T days x 24x 3600  

Δ ω = [2 π / T days x 24x 3600] [v*(e) +/- vº (e)] / [v* (m) +/- vº (m)] x

               (180/π) [36526/T (days)] (3600)

Δ ω = [15 x 36526 / T² (days)] [v*(e) +/- vº (e)] / [v* (m) +/- vº (m)] 

With Z = (29.8 – 0.465)/ (48.2) =29.335/48.2; T = 88 days

Δ ω = 15 (36526/ 88²) (29.335/48.2) = [547890/88²] (29.335/58.2) = 43
Δ ω (sec) = [36526 / T² (days)] [v*(e) +/- vº (e)] / [v* (m) +/- vº (m)]  
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We went to the Lab and found the force F between two objects to be 
F = - G mM/r²
Where G = Universal constant = 6.673 x 10-11; m = primary mass = planet

M = secondary mass = Sun 

And we solved the equation using Newton’s law F = m γ   

The solution came out to be an elliptic motion 
When applied to planetary motion Newton’s solution in event time came out to be; r (θ, t) = [a (1-ε²)/ (1+ ε cosine θ)]

With Sun-Planet distance r and Sun is at the focus of the ellipse and θ is the angle of rotation. 

[image: image12]
When astronomers turned their telescopes to the skies they did not see an ellipse but an optical illusion of a rotating ellipse. They found a rotating ellipse with axial rotation rate of 43.0 seconds of an arc per century or Planet Mercury appears that to rotate one extra time every 3,013,953.488 without explanation. Although this rate of Mercury’s apparent axial rotation rate is tiny and insignificant to science like all of relativity theory and quantum mechanics. Einstein and all other 100,000 living physicists and 100,000 dead physicists accepted Einstein time travel solution
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With rotating angle ψ = 43 arc sec per century

 Location r = r r (1)  

Velocity v = r' r (1) + r θ' θ (1)
Acceleration γ = (r" - rθ'²) r (1) + (2r'θ' + r θ") θ (1)
S = m r; State = mass x distance 

P = d S/ d t = d (m r)/d t = m (d r/d t) + (d m/d t) r

Velocity = v = (d r/d t); mass rate change = m' = (d m/d t)  

P = m v + m' r; Momentum = change of state = change in location or change in mass 

F = d P/d t = d² S/d t² = d [m (d r/d t) + (d m/d t)]/d t

   = m d² r/d t² + (d m/d t) (d r/d t) + (d m/d t) (d r/d t) + (d² m/d t) ² 
F = m d² r/d t² + 2 (d m/d t) (d r/d t) + (d² m/d t) ² r
Force = Change of momentum

F = m a + 2 m ' v + m" r

F = - GmM/r²   
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Or, Newton's Kepler's equation:  F = - GmM/r²   

With d² (m r)/dt² - (m r) θ'² = -GmM/r²   Newton's Gravitational Equation     (1)

And d (m²r²θ')/d t = 0                              Kepler's force law                (2)

With m = constant, then m can be taken out from both equations (1) and (2)
With [d² r/dt² - r θ'²] = -GM/r²   Newton's Gravitational Equation     (1)

And d (r²θ')/d t = 0                              Kepler's force law                (2)

Newton’s space solution r (θ, 0) = [a (1-ε²)/ (1+ ε cosine θ)]

Proof:
(2): d (r²θ')/d t = 0 <=> r²θ' = h = constant

Let r =1/u

With d r/ d t = -u'/u² 
                  = - (1/u²) (θ') d u/d θ 
                  = (- θ'/u²) d u/d θ 
And d r/ d t = - h d u/d θ

And d² (m r)/dt² = - hθ'd²u/dθ² 
                         = - h u² [d²u/dθ²]

With [d² r/dt² - r θ'²] = -GM/r²
Then – h u² [d²u/dθ²] - (1/u) (hu²)² = - G M u²

And [d²u/ dθ²] + u = G M/h²

The solution u = G M/h² + A cosine θ 

Then r (θ, 0) = 1/u = 1/ [G M /h² + A cosine θ]

                       = [h²/G M]/ {1 + [Ah²/ G M] [cosine θ]}

                       = [h²/G M]/ (1 + ε cosine θ)

And r (θ, 0) = [a (1-ε²)/ (1+ε cosine θ)] 

Gives r (θ, 0) = [a (1-ε²)/ (1+ε cosine θ)] Newton's classical solution 
And it is the equation of an ellipse {a, b = √ [1 - a²], c = ε a}

Einstein came and added time travel equation is and a new force k/r 4

With d² (m r)/dt² - (m r) θ'² = -GmM/r² + k/r 4 Einstein's Space-time (1)

And d (m²r²θ')/d t = 0                                 Central force law            (2)

Einstein’s solution r (θ, 0) = a (1 – ε²)/ [1 + ε cosine (θ – φ)]
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And φ = [6πGM/ac² (1 – ε²)] radians/second x (180/π) (36526/T) (3600) = 43.03''

Is our measurement of the gravitational force F = -GmM/r² is wrong?

Or, Einstein Gravitational force F = -GmM/r² + k/r 4 is wrong? 
Real time Universal Mechanics solution                 

With d² (m r)/dt² - (m r) θ'² = -GmM/r²   Newton's Gravitational Equation (1)

And d (m²r²θ')/d t = 0                             Central force law                 (2)

(2): d (m²r²θ')/d t = 0 <=> m²r²θ' = H (0, 0) = constant

                           = m² (0, 0) h (0, 0)  

                           = m² (0, 0) r² (0, 0) θ'(0, 0); h (0, 0) 
                           = [r² (θ, 0)] [θ'(θ, 0)]

                           = [m² (θ, 0)] [r² (θ, 0)] [θ'(θ, 0)]

                           = [m² (θ, 0)] h (θ, 0); h (θ, 0) = [r² (θ, 0)] [θ'(θ, 0)]

                           = [m² (θ, t)] [r² (θ, t)] [θ'(θ, t)] 

                           = [m² (θ, 0) m² (0, t)] [r² (θ, 0) r² (0, t)] [θ'(θ, t)] 

Now d (m²r²θ')/d t = 0

Or 2mm'r²θ' + 2m²rr'θ' + m²r²θ" = 0

Dividing by m²r²θ' to get 2(m'/m) + 2(r'/r) + (θ"/θ') = 0

This differential equation has a solution:

With 2 (m'/m) = 2[λ (m) + ì ω (m)]
And λ (m) + ì ω (m) = constant complex number
And λ (m) and ω (m) are real numbers
Then (m'/m) = λ (m) + ì ω (m)  

And dm/m = [λ (m) + ì ω (m)] d t

Integrating both sides 

Then m = m [θ (t = 0), 0) m (0, t) 
           = m (θ, 0) e [λ (m) + ì ω (m)] t
And m (0, t) = e [λ (m) + ỉ ω (m)] t 
And m = m (0) e [λ (m) + ỉ ω (m)] t 
This Equation (3) is Kepler's time dependent mass equation     

B- 2(r'/r) = 2[λ (r) + ì ω (r)]; λ (r) + ì ω (r) = constant complex number; λ (r) and ω (r)

Are real numbers 

Now r (θ, t) = r (θ, 0) r (0, t) = r (θ, 0) e [λ (r) + ỉ ω (r)] t----- I
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And r (0, t) = e [λ (r) + ỉ ω (r)] t 
And this Equation (4) is Kepler's time dependent location equation

C- Then θ'(θ, t) = {H (0, 0)/ [m² (θ, 0) r (θ, 0)]} e {-2{[λ (m) + λ(r)] t + ì [ω (m) + ω(r)] t}}
And θ'(θ, t) = θ' (θ, 0) e {-2{[λ (m) + λ (r)] t + ì [ω (m) + ω (r)] t}}--II     
This is angular velocity time dependent equation

And θ'(θ, t) = θ' (θ, 0) θ' (0, t)
Then θ'(0, t) = θ'(0, 0) e {-2{[λ (m) + λ (r)] t + ì [ω (m) + ω (r)] t}}} 

This is Angular velocity time dependent equation

Now 

(1): d² (m r)/dt² - (m r) θ'² = -GmM/r² = -Gm³M/m²r²

      d² (m r)/dt² - (m r) θ'² = -Gm³ (θ, 0) m³ (0, t) M/ (m²r²)     

Let m r =1/u

With d (m r/ d t) = - u'/u² 
                        = - (1/u²) (θ') d u/d θ 
                        = (- θ'/u²) d u/d θ 
And d (m r/ d t) = -H d u/d θ

And d² (m r)/dt² = - Hθ'd²u/dθ² 
                         = - Hu² [d²u/dθ²]

With -Hu² [d²u/dθ²] - (1/u) (Hu²)² = -Gm³ (θ, 0) m³ (0, t) M u²

And [d²u/ dθ²] + u = Gm³ (θ, 0) m³ (0, t) M/H²

At t = 0; m³ (0, 0) = 1

[d²u/ dθ²] + u = Gm³ (θ, 0) M/H²

[d²u/ dθ²] + u = Gm (θ, 0) M/h² (θ, 0)

The solution u = Gm (θ, 0) M/h² (θ, 0) + A cosine θ 

Then m (θ, 0) r (θ, 0) = 1/u = 1/ [Gm (θ, 0) M (θ, 0)/h² (θ, 0) + A cosine θ]

      = [h²/Gm (θ, 0) M (θ, 0)]/ {1 + [Ah²/ Gm (θ, 0) M (θ, 0)] [cosine θ]}

                       = [h² (θ, 0)/Gm (θ, 0) M (θ, 0)]/ (1 + ε cosine θ)

And m (θ, 0) r (θ, 0) = [a (1-ε²)/ (1+ε cosine θ)] m (θ, 0)

Gives r (θ, 0) = [a (1-ε²)/ (1+ε cosine θ)]   this is the classical Newton's equation (5)     

And it is the equation of an ellipse {a, b = √ [1 - a²], c = ε a}

We Have m r = m (θ, t) r (θ, t)

                       = m (θ, 0) m (0, t) r (θ, 0) r (0, t) 

And r (θ, t) = r (θ, 0) r (0, t) 

With r (0, t) = e [λ(r) + ỉ ω (r)] t                                                                         
And r (θ, 0) = [a (1-ε²)/ (1+ε cosine θ)]                                 

Then r = (θ, t) = [a (1-ε²)/ (1+εcosθ)] e [λ(r) + ỉ ω (r)] t              

This is the new real time solution of Newton's equation 
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Classical Newton's Equation solution:  
Is: r = r (θ) = r (θ, 0) = a (1-ε²)/ (1+εcosθ)                              
Real time solution r = (θ, t) = [a (1-ε²)/ (1+εcosθ)] e [λ(r) + ỉ ω (r)] t                                   

We have r (θ, t) = r (θ, 0) r (0, t) 

With r (0, t) = e [λ(r) + ỉ ω (r)] t                                  
And r (θ, 0) = [a (1-ε²)/ (1+ε cosine θ)]                   

If λ (m) ≈ 0 fixed mass and λ(r) ≈ 0 fixed orbit

By fixed mass we mean no matter (constant mass) added or subtracted

By fixed orbit we mean that:

These quantities are constant {a, b = √ [1 - a²], c = ε a} 

Then r (θ, t) = r (θ, 0) r (0, t) = [a (1-ε²)/ (1+ε cosine θ)] e ỉ ω (r) t
And m = m (θ, 0) e ỉ ω (m)] t 
We Have θ'(0, 0) = h (0, 0)/r² (0, 0) = 2πab/ Ta² (1-ε) ²

                            = 2πa² [√ (1-ε²)]/T a² (1-ε) ² 

                            = 2π [√ (1-ε²)]/T (1-ε) ²   

We get θ'(0, 0) = 2π [√ (1-ε²)]/T (1-ε) ²   

Then θ'(0, t) = {2π [√ (1-ε²)]/ T (1-ε) ²} e {-2[ω (m) + ω (r)] t 

= {2π [√ (1-ε²)]/ (1-ε) ²} {cosine 2[ω (m) + ω (r)] t - ỉ sin 2[ω (m) + ω (r)] t}

And θ'(0, t) = θ'(0, 0) {1 - 2sine² [ω (m) t + ω (r) t]}

                   - 2ỉ θ'(0, 0) sin [ω (m) + ω(r)] t cosine [ω (m) + ω(r)] t

Δ θ' (0, t)    = Real Δ θ' (0, t) + Imaginary Δ θ (0, t)

Real Δ θ' (0, t) = θ'(0, 0) {1 - 2 sine² [ω (m) t ω(r) t]} 

Let W (ob) = Δ θ' (0, t) (observed) = Real Δ θ (0, t) - θ'(0, 0)

                  = -2θ'(0, 0) sine² [ω (m) t + ω(r) t]

                  = -2[2π [√ (1-ε²)]/T (1-ε) ²] sine² [ω (m) t + ω(r) t]

If this apsidal motion is to be found as visual effects, then            

With, v ° = spin velocity; v* = orbital velocity; v°/c = tan ω (m) T°; v*/c = tan ω (r) T*

Where T° = spin period; T* = orbital period

And ω (m) T° = Inverse tan v°/c; ω (r) T*= Inverse tan v*/c

W (ob) = -4 π [√ (1-ε²)]/T (1-ε) ²] sine² [Inverse tan v°/c + Inverse tan v*/c] radians
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Multiplication by 180/π 

W° (ob) = (-720/T) {[√ (1-ε²)]/ (1-ε) ²} sine² {Inverse tan [v°/c + v*/c]/ [1 - v° v*/c²]} 

Degrees and multiplication by 1 century = 36526 days and using T in days  

Where Inverse tan [v°/c + v*/c]/ [1 - v° v*/c²] = Inverse tan v°/c + Inverse tan v*/c

W° (ob) = (-720x36526/Tdays) {[√ (1-ε²)]/ (1-ε) ²} x

                sine² {Inverse tan [v°/c + v*/c]/ [1 - v° v*/c²]} degrees/100 years

Approximations I  

With   v° << c and v* << c, then v° v* <<< c² and [1 - v° v*/c²] ≈ 1

Then W° (ob) ≈ (-720x36526/Tdays) {[√ (1-ε²)]/ (1-ε) ²} x sine² Inverse tan [v°/c + v*/c] degrees/100 years

Approximations II  

With   v° << c and v* << c, 
Then sine Inverse tan [v°/c + v*/c] ≈ (v° + v*)/c
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W° (calculated) = (-720x36526/Tdays) {[√ (1-ε²)]/ (1-ε) ²} x [(v° + v*)/c] ² degrees/100 years

This is the equation for axial rotations rate of planetary and binary stars or any two body problem.
The circumference of an ellipse: 2πa (1 - ε²/4 + 3/16(ε²)²- --.) ≈ 2πa (1-ε²/4); R =a (1-ε²/4)

Finding orbital velocities

From Newton's inverse square law of an ellipse motion applied to a circular orbit gives the following:  m v²/ r (cm) = GmM/r²

Planet --- r (cm) ----- Center of mass ------- r (CM) --------- Mother Sun 

Planet ------------------- r -------------------------------------- Mother Sun

Center of mass law m r (cm) = M r (CM); m = planet mass; M = sun mass

And r (cm) = distance of planet to the center of mass

And r (CM) = distance of sun to center of mass

And r (cm) + r (CM) = r = distance between sun and planet 

Solving to get: r (cm) = [M/ (m + M)] r 

And r (CM) = [m/ (m + M)] r 

Then v² = [GM r (cm)/ r²] = GM²/ (m + M) r  

And v = √ [GM²/ (m + M) r = a (1-ε²/4)] 
Planet orbital velocity or primary velocity:
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And v* = v (m) = √ [GM²/ (m + M) a (1-ε²/4)] = 48.14 km for planet Mercury
Velocity of secondary or Mother Sun velocity

And v* (M) = √ [Gm² / (m + M) a (1-ε²/4)] 

Applications: mercury ellipse and its axis rotation of 43 " /century

1- Planet Mercury axial "apparent" rotation rate Einstein and Harvard MIT Cal-Tech and all of Modern physicists and NASA call time travel 

W (cal (-720x36526x3600/T) {[√ (1-ε²]/ (1-ε) ²} (v* + v°/c) ² seconds of arc per century

In planetary motion planets do no emit light and their spin rotations are very small  

The circumference of an ellipse: 2πa (1 - ε²/4 + 3/16(ε²)²- --.) 
                                              ≈ 2πa (1-ε²/4); R =a (1-ε²/4)

Where v* (p) =√ [G M² / (m + M) a (1-ε²/4)] ≈ √ [GM/a (1-ε²/4)]; m<<M; Solar system    

Data: G =6.673x10^-11; M=2x10^30kg; m=.32x10^24kg

ε = 0.206; T=88days; c = 299792.458 km/sec; a = 58.2km/sec; v° = 0.002km/sec

Calculations yield: v* =48.14km/sec; [√ (1- ε²)] (1-ε) ² = 1.552 

W (calculated) = (-720x36526x3600/88) x (1.552) (48.14/299792)²
=43.0”/century

2- Venus Advance of perihelion solution:

W" (ob) = (-720x36526x3600/T) {[√ (1-ε²)]/ (1-ε) ²} [(v°+ v*)/c] ² seconds/100 years  

Data:  T=244.7days   v°= v° (p)] = 6.52km/sec; ε = 0.0.0068; v*(p) = 35.12

Calculations

With 1-ε = 0.0068; (1-ε²/4) = 0.99993; [√ (1-ε²)] / (1-ε) ² = 1.00761

G=6.673x10^-11; M (0) = 1.98892x19^30kg; R = 108.2x10^9m

V* (p) = √ [GM²/ (m + M) a (1-ε²/4)] = 41.64 km/sec  

Advance of perihelion of Venus motion is given by this formula: 

W" (ob) = (-720x36526x3600/T) {[√ (1-ε²)]/ (1-ε) ²]} [(v° + v*)/c] ² seconds/100 years

 W" (ob) = (-720x36526x3600/T) {[√ (1-ε²)]/ (1-ε) ²} sine² [Inverse tan 41.64/300,000] = -720x36526/10.55) (1.00762) (41.64/300,000)²

W" (observed) = 8.2"/100 years; observed 8.4"/100years

This is an excellent result within the scientific errors     
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Double throwing one stone  

Inverse Cube equations F = m γ = - k/r³ r (1), then in polar coordinates  

With m [d² r/dt² - θ'²r] = - k /r³ Inverse Cube Gravitational law    (1)

And d (r²θ')/d t = 0                    Kepler's Areal Velocity Equation        (2)  
These two equations give an axial rotation rate:  

One: φ = (m/ M) (180) [36526/T] [3600] arc second/100 years

            = 43.0344 seconds of arc / century for Mercury  

Two: δ θ' = - 720 [36526/T] (3600) √ (1 - ε²)/ T (1 - ε) ² (v/c) ² arc second/100 years

            = 43.0" seconds of arc /century for Mercury 
Solution:

With m = constant 

Then d² r/dt² - θ'²r = - k/ r³         (1)

And d (r²θ')/d t = 0                      (2)

From (2) d (r²θ')/d t = 0; r²θ' = h 

From (1), θ'² d² r/ dθ² - θ'²r = - k/ mr³  

And θ'² [d² r/ dθ² - r] = - k/ mr³   

And d² r/ dθ² - r = - (k/mh²) r

And d² r/ dθ² - r [1 - (k/mh²)] = 0

And r (θ, 0) = r (0, 0) e ỉ {√ [1 - (k/mh²)]} θ

From (2) d (r²θ')/d t = 0; r²θ' = h 

Then 2rr'θ' + r²θ'' = 0

Dividing by r²θ' 

We get 2 (r'/r) + (θ''/θ') = 0

And 2 (r'/r) = - θ''/θ' = 2ỉ ω t

And r = r (0, 0) e ỉ {√ [1 - (k/mh²)]} θ e ỉ ω t
And θ' = θ' (θ, 0) e - 2ỉ ω t 

Or r = r (0, 0) e ỉ {√ [1 - (k/mh²)]} θ + ỉ ω t
And θ' = θ' (0, 0) e -2ỉ [{√ [1 - (k/mh²)]} θ + ω t]
And θ' = θ' (0, 0) e -2ỉ [{√ [1 - (k/mh²)]} θ + ω t]
And θ' = (θ' (0, 0) {cosine 2 [{√ [1 - (k/h²)]} θ + ω t] 
                            - ỉ sine 2 [{√ [1 - (k/h²)]} θ + ω t]}  
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And θ' - θ' (0, 0) = - 2 θ' (0, 0) sine² [{√ [1 - (k/mh²)]} θ + ω t] 

And δ θ' = - 2 θ' (0, 0) sine² [{√ [1 - (k/mh²)]} θ + ω t] 

If k = Gm M α; h = 2π a b/T

Then δ θ' = - 2 θ' (0, 0)] sine² [{√ [1 - (GMαT²/4π²a²b²)]} θ + ω t] 

Taking Kepler's: T²/4π²a³ = 1/GM 

And GM = 4π²a³/ T²; GM α T² = 4π²a³ α 

And (GMαT²/4π²a²b²) = a α/b²   

Then δ θ' = - 2 θ' (0, 0) sine² [{√ (1 - a α/b²)} θ + ω t] 

If α = mb²/aM

Then δ θ' = - 2 θ' (0, 0)] sine² [{√ [1 - (m/ M)]} θ + ω t] 

If θ = 0 

Then δ θ' = - 2 θ' (0, 0) sine² ω t

And θ' (0, 0) = h/r² = 2πab/Ta² (1 - ε) ² 

                     = 2πa²√ (1 - ε²)/Ta² (1 - ε) ² = 2π√ (1 - ε²)/T (1 - ε) ²  

And δ θ' = - 4π√ (1 - ε²)/ T (1 - ε) ² sine² ω t

With ω T = arc tan v/c << 1 

Then δ θ' = - 4π/T√ (1 - ε²)/ (1 - ε) ² sine² arc tan (v/c) radians per T

Or δ θ' = - 4π/T√ (1 - ε²)/ (1 - ε) ² (v/c) ² radians per T

And δ θ' = - 4π/T√ (1 - ε²)/ (1 - ε) ² (v/c) ² [180/π] [36526] [3600] arc second/100 years

Or δ θ' = - 720 [36526/T] (3600) [√ (1 - ε²)]/ (1 - ε) ²] (v/c) ² arc second/100 years

Or δ θ' = - 720 [36526/T] (3600) (1.552) (48.2/c) ² = 43.11 " arc second/100 years

Or If ω = 0 

Then δ θ' = - 2 θ' (0, 0)] sine² {√ [1 - (m/ M)]} θ  

And (m/ M) << 1 

Then δ θ' = - 2 θ' (0, 0) sine² θ  

If θ = arc tan (v/c)

Then δ θ' = - 2 θ' (0, 0) sine² arc tan (v/c)  

With θ' (0, 0) = 2π√ (1 - ε²)/T (1 - ε) ²  

Then δ θ' = - 720 [36526/T] (3600) √ (1 - ε²)/ (1 - ε) ²] (v/c) ² arc second/100 years

 Or r = r (0, 0) Exp ỉ [{√ [1 - (k/mh²)]} θ + ω t]

Or r = r (0, 0) Exp ỉ [{√ [1 - (m/M)]} θ + ω t]

If m/ M << 1 

Then r ≈ r (0, 0) e ỉ [{[1 - (m/ 2M)]} θ + ω t]
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And r ≈ r (0, 0) e ỉ [(θ - φ) + ω t]

With φ = m/ 2M θ

Taking θ = 2π 

Then φ = π m/ M radians 

And φ = π m/ (M) [180/π] [36526/T] [3600] arc second/100 years

Or φ = (m/ M) (180) [36526/T] [3600] arc second/100 years

        = 43.0344"/100 years

Or δ θ' = - 720 [36526/T] (3600) √ (1 - ε²)/ (1 - ε) ²] (v/c) ² arc second/100 years

            = 43.0"/100 years

Or and extra Newton's φ = π m/ (m+ M) [180/π] [36526/T] [3600] arc second/100 years
Either one of the three formulas works and gives 43 seconds of an arc for planet Mercury.

Why Einstein’s formula works on Mercury and not anywhere else?

Einstein rigged everything to come up with the 43.0 seconds of arc per century and what made this formula work is [√ (1-ε²]/ (1-ε) ²} = 1.552

And vº = 0

Einstein’s φ = [6πGM/ac² (1 – ε²)] radians/second x (180/π) (36526/T) (3600) = 43.03''

GM/a = v²

And φ = [6πv²/c² x (180/π) (36526/T) (3600) = 43.03''

         = 1.5 x (-720x36526x3600/T) (v/c) ² seconds of arc 
W (cal) = (-720x36526x3600/T) {[√ (1-ε²]/ (1-ε) ²} (v/c) ²
{[√ (1-ε²]/ (1-ε) ²} = 1.552
Nuclear Gravity F = (-GmM/r²) e k/r 

With d² (m r)/dt² – (m r) θ'² = [-GmM/r²] e k/ r Nuclear gravity Equation (1)

And (m²r²θ')/d t = 0                                       Kepler's Areal   Velocity (2)       

 (2): d (m²r²θ')/d t = 0 

Then m²r²θ' = constant; if m is taken as constant then r²θ' = h

And (1): d² r/dt² - r θ'² = [-GmM/r²] e k/r         

Let m r =1/u

Then d r/d t = -u'/u² 
                  = - (1/u²) (θ') d u/d θ 
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   = (- θ'/u²) d u/d θ 
   = - h d u/d θ

And d² r/dt² = -hθ'd²u/dθ² 
                   = - hu² [d²u/dθ²]
With d² (m r)/dt² - (m r) θ'² = [-GmM/r²] e k/r   Nuclear Gravity         (1)

With e k/r ≈ 1+ k/r; k/r <<1 
And -hu² (d²u/dθ²) - (1/u) (hu²)² = -GMu² [1 + k u]; α m/M r << 1

And (d²u dθ²) + (1 – GMk/h²) u = GM/h²

And u = [GM/ h²]/ {(1 – GMk/h²) + A cosine [√ (1 - GMk/h²)] θ} 

And r = 1/u = 1/ {[GM/ h²]/ {[1 – GMk/h²] + A cosine {√ [1 – GMk/h²]} θ}

         = [1 – GMk/h²]/ (M/ h²)]/ {1 + ε cosine {√ [1 - GMk/h²]} θ 

 Where [1 – GMk/h²]/ (GM/h²) = a (1 – ε²)

And [1 – GMk/h²] = (GM/h²) a (1-ε²)

And h² - GM k = G M a (1- ε²)

Then h²/GM – a (1- ε²) = k
And √ [1 – GMk/h²] =√ {[1 – (GM/h²) [(h²/GM) – a (1 - ε²)]}

                             = √ {[1 – 1 + (GM/h²) a (1 - ε²)]}

                             = √ [(GM/h²) a (1 - ε²)]
                             = √ {[GM/4π²a4 (1 - ε²)] a (1 - ε²)]}

                             = √ (GM/4π²a³)

                             = (1/2πa) √ (GM/a) = v/2πa = 2π/2πT
                             = 1/T = f = frequency
What is the accumulated value of 2 π f per century for planet mercury seen from Earth?
The angular frequency is ω = 2 π f 
How I would see ω of planet mercury turning around the sun from earth?

The answer is there will be a frequency change of

W = 2 π f [v*(e) - vº (e)]/v* (m); radians per second 

Where v*(e) = Earth orbital velocity around the Sun = 29.8 km/sec

And vº = Earth spin speed = 0.465 km/sec

And v* (m) = Mercury orbital velocity around the Sun = 47.9 km/sec
With f = 1/T; f = frequency; T = Period = 88 days
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If W is wanted in degrees multiply by: 180/π          

If W is wanted in degree per century multiply by (180/π) x (36526 days/ T)

If W is wanted in arc second per century multiply by 

(180/π) x (36526 days/ T) x 3600

W = [2 π f [v*(e) - vº (e)]/v* (m)] x (180/π) x [36526 days/ (T days)] x 3600

With f = 1/T (seconds) 

W = [360 x 3600 x (36526/T (days)] [1/T (seconds)] [v*(e) - vº (e)]/v* (m)]

W = [360 x 3600 x (36526/T (days)] [1/ 24 x 3600 x T (days)] [v*(e) - vº (e)]/v* (m)]

W = 15 x (36526/T² (days)] [v*(e) - vº (e)]/ [v* (m)]

For Mercury

W = 15 x [36526/ (88)²] [(29.8 – 0.465)/47.9] = 43.0 arc second per century

Visual force: F = - Gm M/r² - Gm Mk/r³

With m [d² r/dt² - θ'²r] = - Gm M/r² - Gm Mk/r³ Visual Gravitational law   (1)

And d (r²θ')/d t = 0                            Kepler's Areal Velocity Equation  (2) 

Gives   an axial rotation rate of 
W = 15 x (36526/T² (days)] [v*(e) +/- vº (e)]/ [v* (m) +/- vº(m)]

For Mercury

W = 15 x [36526/ (88)²] [(29.8 – 0.465)/47.9] = 43.0 arc second per century
Nuclear Gravity (-GmM/r²) e (m α/ M r) 
Abstract:  Yukawa Gravity (-GmM/r²) e (m α/ M r) or the nuclear gravity force is the crudely approximated Newtonian gravity force (-GmM/r²) explains planetary motion around the sun as a rotating ellipse with a rotation rate φ = [π m/(m + M)](180/π)(36526/T)(3600) = 43.03 seconds of an arc per century for the most talked about planet of mercury; m = 3.2 x 10^24 kg; M = 2x10^30 kg; T = 88days

With d² (m r)/dt² – (m r) θ'² = (-GmM/r²) e (m α/ M r) Gravity Force    (1)

And d(m²r²θ')/d t = 0                                Kepler's Areal Velocity     (2)

Then m²r²θ' = constant; if m is taken as constant then r²θ' = h

And (1): d² r/dt² - r θ'² = -GmM/r² + Gm²α/r³    

Let m r =1/u

Then d r/d t = -u'/u² = - (1/u²) (θ') d u/d θ = (- θ'/u²) d u/d θ = - h d u/d θ
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And d² r/dt² = -hθ'd²u/dθ² = - hu² [d²u/dθ²]
-hu² [d²u/dθ²] - (1/u) (hu²)² = -G M u² [1 – (α m /M) u]; α m /M r << 1

Or (d²u/ dθ²) + (1 – Gmα/h²)u = GM/h²

And u = [GM/ h²]/[1 – Gmα/h²] + A cosine {√ [1 - Gmα/h²]}θ 

And  r = 1/u = 1/{[GM/ h²]/[1 – Gmα/h²] + A cosine {√ [1 – Gmα/h²]}θ}

           = [1 – Gmα/h²]/M/ h²]/{1 + ε cosine {√ [1 - Gmα/h²]}θ 

 Where [1 – Gmα/h²]/GM/h² = a (1 – ε²)

And [1 – Gmα/h²] = (GM/h²) a (1-ε²)

If α = a (1 – ε²), the h² = G (m + M) a (1- ε²)

Then Gmα/h² = G ma (1 - ε²) /G (m + M) a (1- ε²)

                     = m (m + M)

With   r (θ, 0) = [1 – Gmα/h²]/M/ h²]/{1 + ε cosine {√ [1 – Gmα/h²]}θ

Then   r (θ, 0) = a (1 – ε²)/ {1 + ε cosine {√ [1 – Gmα/h²]} θ

And    r (θ, 0) = a (1 – ε²)/ {1 + ε cosine {√ [1 – m/ (m + M)]} θ    

And m << M; √ [1 – m/(m + M)] ≈ 1 - m/2(m + M)

With {√ [1 – Gmα/h²]}θ ≈ [1 - m/ 2(m + M)] θ

If θ = 2π, Then 2π [1- m/2(m + M)] = 2π - 2π [m/2(m + M)] 

With r(θ,0) =  a(1 – ε²)/{1 + ε cosine  [θ – mθ/2(m + M)]}

Then r(θ,0) =  a(1 – ε²)/[1 + ε cosine  (θ – φ)]

And φ = mθ/2(m + M)

With θ = 2π, then φ = 2πm/2(m + M) = π m/ (m + M) radians/second

Multiplication by 180/π, then φ = 180m/ (m + M) degrees/second

Multiplication by (36526/T), then φ = [m/ (m + M)] (180)(36526/T) degrees/century

Multiplication by 3600, then φ = [m/(m + M)](180)(36526/T)(3600) seconds/century

With Planet Mercury: m = 3.2x10^24kg; M = 2x10^30kg 

Then φ = [3.2x10^24/2x10^30](180)(36526/T)(3600) seconds of an arc per century

And φ = 43.03426909''/century
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1- Newton’s action at a distance historical mistake 

Action at a distance historical mistake is Earth and its atmosphere and not Earth and distant stars are exerting forces on each other

F = - GmM/r²; The Unit of [G] = [1/ [(2/5) (4π/3) ρT²]; ρ = air density =1.2045kg/m³; and T = Earth rotation period = 23.9333x3600 

Then G = 6.6747 x 10-11
2- Newton’s quantum mechanics historical mistake
Newton’s proposed an equation F = - GmM/r²
Newton solved his equation wrong: r (θ, 0) = a (1-ε²)/ (1+ ε cosine θ) -- I
Newton’s equation solution in real time is quantum mechanics: 

Is r (θ, t) = [a (1-ε²)/ (1+ ε cosine θ)] ℮ [λ (r) + ỉ ω (r)] t ----------------------- II  

There is no classical mechanics and quantum mechanics except on college campus

And the quantum mechanics taught on college campus is all wrong conclusions

3- Newton’s relativistic mechanics historical mistakes

The difference between I and II is relativistic

Newton’s equation is solved wrong for 350 years and the correct solution deletes quantum mechanics and deletes relativity    

This equation: r (θ, t) = [a (1-ε²)/ (1+ ε cosine θ)] ℮ [λ (r) + ỉ ω (r)] t
Is classical mechanics quantum mechanics and relativistic mechanics in one equation. From this equation I can derive all of mechanics. There is one and only one mechanics and this is the solution to it

Is: r (θ, t) = [a (1-ε²)/ (1+ ε cosine θ)] ℮ [λ (r) + ỉ ω (r)] t
Special relativity theory derived from F = m γ
The solution is: r (θ, t) = [a (1-ε²)/ (1+ ε cosine θ)] ℮ [λ (r) + ỉ ω (r)] t
If ε = 0, then r (θ, t) = a ℮ [λ (r) + ỉ ω (r)] t
If λ (r) = 0, Then r (θ, t) = a ℮ ỉ ω (r) t
Or quantum mechanics distance r = r (0) ℮ ỉ ω (r) t = r (0) [cosine ω t + ί sine ω t] 
To get the relativistic distance: r = r (0) cosine ω t 
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4- Lorentz length contraction historical mistake
Length contraction is just a visual effect of projected light aberration and it is an "apparent" visual effect and not real

From r = r (0) cosine ω t; with ω t = arc tab (v/c)

It changes to: r = r (0) {√ [1- sine² arc tan (v/c)]

And                  ≈ r [√ [1- (v/c) ²]; v/c <<< 1

5- Einstein Constant velocity of Light historical mistake
 Einstein’s constant velocity of light historical mistake leading to time dilation
From r = r (0) cosine ω t; r = c T and r (0) = c T (0) 

Then c T = c T (0) cosine ω t 

And T = T (0) sine ω t 

6 – Time dilations historical mistakes

T = T (0) sine ω t
T ≈ T (0) √ [1-(v/c) ²]; v/c << 1 

7 – Relativistic momentum historical mistake 
From r = r (0) ℮ ỉ ω (r) t
Then V = [v (0) + ί ω r (0)] ℮ ỉ ω (r) t
And V = [v (0) + ί ω r (0)] [cosine ω t + ί sine ω t]

         = [v (0) cosine ω t - ω r (0) sine ω t]

       + ί [v (0) sine ω t + ω r (0) cosine ω t]

And v (x) = v (0) cosine ω t - ω r (0) sine ω t

With ω T = arc tan [v/c] 
And v (x) = v (0) cosine ω t - ω r (0) sine ω t

              = v (0) cosine arc tan (v/c) - ω r (0) sine arc tan (v/c) 
                 = v (0) cosine arc tan (v/c) - ω r (0) sine arc tan (v/c) 
                    = v (0) √ {1 – sine² [arc tan (v/c)]} - ω r (0) sine arc tan (v/c)   

With ω t << 1

Then; v (x) = v (0) √ [1 – (v/c) ²] - ω r (0) (v/c)    

Or, v (x) = v (0) √ [1 – (v/c) ²] - ω (T/T) r (0) (v/c)
And v (x) = v (0) √ [1 – (v/c) ²] - ω (T/T) r (0) (v/c)

And v (x) = v (0) √ [1 – (v/c) ²] – [r (0)/T] (v/c) ²
If [r (0) /T] << 1,  
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Then, v (x) = v (0) √ [1 – (v/c) ²] 

Multiply both sides by m, then: m v (x) = m v (0) √ [1 – (v/c) ²]  

8 – Relativistic mass historical mistake 

Taking m v (x) = m v (0) √ [1 – (v/c) ²]      
Taking: m v (x) = m (0) v (0) 

Taking: m v (0) = m v (0)

Then: m = m (0) / [√ [1- (v/c) ²]

Also; m = m (0) / [1-1/2(v/c) ²]

9 – 20th century greatest mistake is E = mc²
 Energy

mc² = m (0) c² / [1-1/2(v/c) ²]

E = m (0) c²; v = 0

Also m ≈ m (0) [1+ 1/2(v/c) ²]

Hence m c² ≈ m (0) c² + m v ²/2

10 - Le Verrier real time motion and Advance of perihelion historical mistake

W (arc – sec /century) = [v* (e) +/- v º (e) /r (m)] X [(180/π) (3600) (26526/T)]
Or

W (arc – sec /century) = [v* (m) +/- v º (m) /r (e)] X [(180/π) (3600) (26526/T)]
X [r (e) - r (m)]/r (m)

This mistake is due to French mathematician Le Verrier in his calculations of Mercury's orbit and his claim that Newtonian mechanics can not explain Mercury's angular velocity.   
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[image: image14]
If Planet mercury, m, orbital speed is to be measured from the Sun, S, then planet mercury orbital speed is θ’ (m) = v (m)/ r (m)

If Planet mercury, m, orbital speed is to be measured from the Earth, e, then planet mercury orbital speed is θ’ (m) = [v (m) + V (e)]/ r (m)

For planet Mercury

W (arc – sec/century) = [(29.335km/sec)/ (58.2 x 106km)] 

                                X [(180/π) (3600) (26526/T)] 

                                = 43.0 arc second per century
With vº (m) = 3m/sec; T = 88 days

W (arc – sec/century) = [(47.9km/sec)/ (149.6 x 106km)] 

                                X [(180/π) (3600) (26526/T)] (149.6 – 58.2)/58.2

                                = 43.0 arc second per century
11 - Johann Georg Van Soldner real time motion and light bending historical mistake 

Abstract: Newton proposed F = - GmM/r² as gravitational law

In 1801 Johann Georg Van Soldner was the first person to calculate the gravitational bending of light using Newtonian Mechanics and he got:

Johann Georg Van Soldner ς (Johann) = 2 {cosine -1 [v²/ (-c² + v²)} – π ≈ 2 (v/c) ²
With v² = GM /R where G = gravitational constant = 6.673 x 10-11; C = 3 x108m/sec

And M = Sun mass = 2 x 1030 kg; R = sun radius = 0.695 x 109 m; v = 437.89 
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Einstein said if make – believe time travel and new forces added:

Then: ς (Einstein) = 4 (v/c) ²; ς (Johann) = 0.8789 arc sec; ς (Einstein) = 2(0.8789)

Johann Georg Van Soldner derivation was incomplete and when completed and approximated it produces Einstein’s formula without Einstein’s space – time fiction and as light aberration and not light bending.
Proof:

Johann Georg Van Soldner wrong derivation of angle of light aberration around the Sun
With d² r/d t² - r θ'² = -GM/r²   Newton's Gravitational equation (1)

And d (r²θ')/d t = 0                              Kepler's force law        (2)

Assuming mass m = constant 

Proof:

With (2): d (r²θ')/d t = 0 

Then r²θ' = constant = h

Differentiate with respect to time

Then 2rr'θ' + r²θ" = 0

Divide by r²θ' 

Then 2(r'/r) + θ"/θ' = 0

And 2(r'/r) = - (θ"/θ') = 2[λ (r) + ì ω (r)]

And 2(r'/r) = 2[λ (r) + ì ω (r)]

And (θ"/θ') = - 2[λ (r) + ì ω (r)]

Solving for r = r (θ, t) = r (θ, 0) r (0, t) = r (θ, 0) ℮ [λ (r) + ỉ ω (r)] t

With r (0, t) = ℮ [λ (r) + ỉ ω (r)] t

Then θ'(θ, t) = [h/ r² (θ, 0)] ℮ -2[λ (r) + ỉ ω (r)] t 

And, θ'(θ, t) = θ' (θ, 0) θ' (0, t)

And θ' (0, t) = ℮ -2[λ (r) + ỉ ω (r)] t

Also θ'(θ, 0) = [h/ r² (θ, 0)] 

And θ'(0, 0) = [h/ r² (0, 0)]
With (1): d² r/d t² - r θ'² = - GM/r² 

Let r =1/u

Then d r/d t = -u'/u² = - (1/u²) (θ') d u/d θ = (- θ'/u²) d u/d θ = - h d u/d θ

Page 37

And d² r/d t² = - hθ'd²u/dθ² = - h u² [d²u/dθ²]

And - hu² [d²u/dθ²] - (1/u) (hu²)² = - G Mu²

[d²u/ dθ²] + u = G M/ h²

And u = G M/ h² + A cosine θ 

And du/ d θ = 0 = - A sine θ; θ = 0

Then u (0) = 1/ r (0) = GM/h² + A; h = RC

C = light velocity of 300,000km/sec; And A = 1/R – GM/ (RC) ² 
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And u = G M/ h² + A cosine θ = GM/ (RC) ² + [1/R – GM/ (RC) ²] cosine θ  

And r = 1/u = 1/ {GM/ (RC) ² + [1/R – GM/ (RC) ²] cosine θ}  

If r ---( ∞; GM/ (RC) ² + [1/R – GM/ (RC) ²] cosine θ = 0              

Divide by GM/ (RC) ²  

Then 1 + [R²C²/ GM R – 1] cosine θ = 0

And cosine θ = -1/ [C²/ (GM/ R) – 1] 

Or cosine θ = 1/ [1 – (C²/V²)]; GM/R = V² 

Or cosine θ = v²/ (v² - c²)

And θ = cosine -1 [v²/ (v² - c²)]

And ς (Johann) = 2 {cosine -1 [v²/ (-c² + v²)} - π ≈ 2 [π/2 + (v/c) ²] – π = 2 (v/c) ²; v/c <<1   

 SHAPE  \* MERGEFORMAT 



Einstein invented many things to come up with double the amounts:

Or, ς (Einstein) = 4 (v/c) ²

Here is Johann Georg Van Soldner 1801 Historical mistake

We have u (θ) = G M/ h² + A cosine θ

And r (θ, t) = r (θ, 0) r (0, t) = r (θ, 0) ℮ [λ (r) + ỉ ω (r)] t
And r (θ, 0) = 1/ u (θ, 0) = 1/ [G M/ h² + A cosine θ]

Or, r (θ, 0) = (h²/GM)/ [1 + (h²/GM) A cosine θ]

Or, r (θ, 0) = (h²/GM)/ [1 + ε cosine θ]

 Real time orbit: r (θ, t) = [a (1-ε²)/ (1+ ε cosine θ)] ℮ [λ (r) + ỉ ω (r)] t
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This equation is real time Universal mechanics solution 

This: r (θ, t) = [a (1-ε²)/ (1+ ε cosine θ)] ℮ [λ (r) + ỉ ω (r)] t --------------------------------- I

It is the math formula that matches a physical experiment

If time is frozen that is t = 0

Then r (θ, t) = [a (1-ε²)/ (1+ ε cosine θ)] we get the classical or event time solution ----------- II

Relativistic is the difference between I and II 

And it is the visual illusion between motion II and Visual motion I 

The difference between an event and its measurement in real time

With θ’ (θ, t) = [h/ r² (θ, 0)] ℮ -2[λ (r) + ỉ ω (r)] t  

With (θ”/ θ’) = - 2[λ (r) + ì ω (r)]

Then θ” (θ, t) = - 2[λ (r) + ì ω (r)] [h/ r² (θ, 0)] ℮ -2[λ (r) + ỉ ω (r)] t  

With λ (r) = 0

Then θ” (θ, t) = - 2 ì ω (r) [h/ r² (θ, 0)] ℮ -2 ỉ ω (r) t  
Or, θ” (θ, t) = - 2 ì ω (r) [h/ r² (θ, 0)] [cosine 2 ω (r) t + ί sine 2 ω (r) t] 
The real part or along the line of sight

Is Real θ” (θ, t) = 2 ω (r) [h/ r² (θ, 0)] sine 2 ω (r) t] (t/t) 
Or, Real θ” (θ, t) = 2 t ω (r) [h/ t r² (θ, 0)] sine 2 (r) ω t]  
Or, Real θ” (θ, t) / [h/ t r² (θ, 0)] = 2 t ω (r) sine 2 ω (r) t  
At t = T; light aberration angle in real time is confused for light bending. With ω T = arc tan (v/c)   

Then ψ = visual illusion angle = θ” (θ, T) / [h/ T r² (θ, 0)]
Or, ψ =2 T ω (r) sine 2 ω (r) T

Johann Georg Van Soldner 1801 historical mistake
Is: ψ = [2 arc tan (v/c)] sine [2 arc tan (v/c)]

With (v/c) << 1; 2 arc tan (v/c) ≈ 2 (v/c)   

And sine 2 arc tan (v/c) ≈ sine 2 (v/c) ≈ 2 (v/c)

And ψ = [2 arc tan (v/c)] sine [2 arc tan (v/c)] 

          ≈ [2 (v/c)] [2 (v/c)]

Or ψ ≈ 4 (v/c) ² radians 
Or, ψ ≈ 4 (v/c) ² x (180/π) degrees

 Or, ψ ≈ 4 (v/c) ² x (180/π) x 3600 seconds

With v² = GM/R 

Then ψ ≈ 4 GM/R c² x (180/π) x 3600 seconds
Einstein with the help of others rigged eternity to come up with 4 (v/c) ² and not 2 (v/c) ² to justify experimental illusions or 2[2(v/c) ²]

Ψ = 7200 [arc tan (437.89 / 300,000)] sine 2 [arc tan (437.89/300,000)]

   = 1.757855865 arc second
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20th century greatest mistake is E = mc²
12 - Abstract: The elimination of relativity theory is a matter of time and not a matter of science. E = mc² death certificate is now available

Real time is r = r (0) ℮ [λ (r) + ỉ ω (r)] t
This is how E = mc²/2 ended being E = mc²

E = mc²/2 and 

Δ E = mc² is the visual illusion of E =mc²/2

Visual Δ E = mc ²

Proof: E (total) = T (kinetic) + U (potential) = T + [U = 0] = [T = 0] + U 

With E = T = mv²/2 = mc²/2; v = c

With r = r (0) ℮ [λ (r) + ỉ ω (r)] t
P = r (0) [λ (r) + ỉ ω (r)]} ℮ [λ (r) + ỉ ω (r)] t 

With λ (r) = 0, P = [ỉ ω (r) r (0)] ℮ ỉ ω (r) t

(P. P) = [- ω² r² (0)] ℮ 2 ỉ ω (r) t

E = m (P. P)/2 = (m/2) [- ω² r² (0)] ℮ 2 ỉ ω (r) t

E = (m/2) [- ω² r² (0)] [cosine 2 ω (r) t + ỉ sin 2 ω (r) t]
E = Ex + E y = - [m ω² r² (0)/2] [cosine 2 ω (r) t + ỉ sin 2 ω (r) t]
Ex = - [m ω² r² (0)/2] cosine 2 ω (r) t                     

Ex = - E0 [1 – 2 sine² ω (r) t]; E0 = [m ω² r² (0)/2]
ΔE = Ex + E0 = 2 E0 sine² ω (r) t 
With ω (r) T = arc tan (v/c)

ΔE = Ex + E0 = 2 E0 sine² [arc tan (v/c)]

At v = c
ΔE (v = c) = Ex + E0 = 2 E0 = 2 [m ω² r² (0)/2]
ΔE (v = c) = m ω² r² (0)
Measured as ω r = c
Δ E = mc²

In experiments we can only find 1/9 of the energy that the formulas say there is energy. Scientists are wasting their efforts for all of past century on trying to find the other 8/9 energy the formulas says they exist but we can not find.

How did that happen?

We have E = [mc²/2] and in nuclear reaction they say when mass is changed to energy then change in energy Δ E = mc² and total energy is = E + Δ E = mc²/2 + mc² = 3mc²/2 and in experiment we can only find E = mc²/2 and the other 2 [mc²/2] = 2E are missing. 

With E (total) = 3 (mc²/2) = 3 E = E (total)/3 can be found and 2E =2 E (total)/3      
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Or E (total)/3 found 

And 2 E (total)/ 3 missing

Then scientists added that also (1/3) of energy that we found might have 2/3 missing too.

Then 2/3 (1/3) = 2/9 missing of energy that we found

And 2/3 = 6/9 already missing and the total missing is 6/9 + 2/9 = 8/9 missing wow! 

13 - Coulomb Electric law historical mistake  

Fe = - Q q / 4 π ε0 r²   

Fm = - GmM/r²; The Unit of [G] = [1/ [(2/5) (4π/3) ρT²] = (15/8π ρT²) 
And ρ = air density =1.2045kg/m³; and T = Earth rotation period = 24 x3600 

Then G = 6.6747 x 10-11
Fe = [ρT²/4 π] Q q/r² = [ρT²] Q q/4 π r² = Q q/4 π ε0 r²
And ε 0 = 1/ 4 π ρT²

And μ0 = 4 π ρT²/c² 
14 – Magnetism law historical mistake   

Fe = - Q q / 4 π ε0 r²   

With r = r0 e ί ω t

And r² = r²0 e 2 ί ω t

Fe = - [Q q / 4 π ε0 r²0] e -2 ί ω t    

Fe = F0 e -2 ί ω t    

Fe = F0 [cosine 2ωt - ί sine 2ωt]  

And F0 (cosine 2ωt) electric
And - F0 (sine 2ωt) magnetic
And ∂ U /∂ r = - Fe = Q q / 4 π ε0 r²   

And U = [Q q / 4 π ε0 r] = [Q q / 4 π ε0 r0] (cosine 2ωt - ί sine 2ωt) 

U e = [Q q / 4 π ε0 r0] cosine 2ωt  
Um = - [Q q / 4 π ε0 r0] cosine 2ωt  
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15 - Harvard Pound – Rebka gravitational red shift historical mistake 

Abstract: Light aberrations visual effects appear as gravitational red-shifts as follows: A signal emitted will be received by a receiver located at a distance r as deflected by an angle ω (r) T = arc tan (v/c) or light aberrations angle. In practice an object emitting a signal located at a distance r it would be measured by a receivers as an object emitting from a location S caused by light visual effects where:

S = r e ỉ ω t or λ (S) = λ (r) e ỉ ω t 

Measurements are defined at t = T; ω T = arc tan (v/c)

With sine ω T= sine arc tan (v/c)
And cosine arc tan ω(r) T = √ {1-[sine arc tan (v/c)] ²}

And with v << c; then ω(r) T= arc tan v/c ≈ v/c

Then sine ω T = sine arc tan v/c ≈ v/c; 

And cosine ω T = cosine arc tan v/c = √ [1- sine ² arc tan (v/c)] = √ [1- (v/c) ²] 

Or λ (S) = λ (r) {√ [1-(v/c) ²] + ỉ (v/c)} = Real λ (S) + Imaginary λ (S)

Projected or Real λ (S) = λ (r) √ [1-(v/c) ²] ≈ λ (r) [1 - 1/2(v/c) ²]

Δ λ = real λ (S) - λ (r)  

Δ λ = λ (r) √ [1-(v/c) ²] - λ (r)  

Δ λ = - λ (r) (v/c) ²]

Δ λ = - λ (r) (v/c) ² /2 Up

Δ λ (total)/ λ (r) = -1/2 (v/c)²[up]-{1/2(v/c)²[down]} = - (v/c) ²

Δ λ / λ = - (v/c) ²

v² = 2gh; g = 9.81km²/s² gravitational acceleration
And h = height; h =22.5meters 

Δ υ/υ [Total] = -Δ λ / λ = + (v/c) ² = [2gh/c²]  

Δ υ/υ = 4.93x10-15 

There is no gravitational red shift
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16 - Harvard Irwin Shapiro Interplanetary communications historical mistake

Universal Constant Γ0 =16πGM/C³= 247.597μs  

Abstract: Interplanetary time delays around the moving sun derived from three dimensional time-dependent Newton - Kepler's equations solution gives a solar round trip time delay rate of:  
ΔΓ= 16πGM/c³ [1 + (v°/v)] ² = ΔΓ0 [1 + (v°/v)] ² 

ΔΓ0 = 16πGM/c³= 247.597μs

G = Gravitational constant; M=Sun mass; a=mean distance from Sun. And eccentricity; c = light speed; a = mean distance 

And v = Planet speed; v°= Sum/Difference in spin between Earth and planets. When applied to actual data it gives extremely accurate results better than Shapiro's Space-time-delay analysis and without space-time fictional forces or space-time fiction.     

W° (ob) = (-720x36526/Tdays) {[√ (1-ε²)]/ (1-ε) ²} x [(v° + v*)/c] ² degrees/100 years

The circumference of an ellipse: 2πa (1 - ε²/4 + 3/16(ε²)²- --.) ≈ 
2πa (1-ε²/4); R =a (1-ε²/4)

Where v (m) = √ [GM²/ (m + M) a (1-ε²/4)] 

And v (M) = √ [Gm² / (m + M) a (1-ε²/4)] 

Then W (ob) = -4π [√ (1-ε²)]/T (1-ε) ² sine² [ω (m) t + ω(r) t] 

Δ θ = T W (ob) = - 4π {[√ (1-ε) ²]/ (1-ε) ²} (v° + v*/c) ²} radians; and with ε = 0

Δ θ = - 4π (v° + v*/c) ² Sun-Photon; and with v° = 0

Δ θ = -4π (v*/c) ²

Sun-Photon:  0 = ε [Sun - Photon] ≠ ε [Earth - Mars] = 0.2075

The circumference of an ellipse: 2πa (1 - ε²/4 + 3/16(ε²)²---) ≈ 2πa (1-ε²/4); R =a (1-ε²/4)

 v=√ [GmM/ (m + M) a (1-ε²/4)] ≈ √ [GM/a (1-ε²/4)]; m<<M; Solar system    

ΔΓ = 2 arc length/c = 2[Δ θ] d/c = 2[- 4π (v/c) ²] 2R/c; ΔΓ = -16π/c (v/c) ²;

ΔΓ = 8πd/c³ [GM/a (1-ε²/4)] =16πGM/c³ (1-ε²/4) = Γ0 (1 - ε²/4)
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ε = [a (planet 1) - a (planet 2)]/ [a (planet 1) + a (planet 2)] =0.2075 Mars-Earth 

Γ0 = 16 πGM/c³= 247.5974607μs=universal constant
ΔΓ = 250μs Mars-Earth.

x 1000         x 1000         x 1000       


These data compared to Shapiro's time delay from NASA 1977 Vikings 6, 7 Earth - Mars Telecommunications mission are more accurate because the actual value is 250μs and the value published by Doctor Irwin Shapiro of Harvard is 247.597μs 

Although this formula works the correct formula is    

  Δ θ = -4π [(v° + v*)/c] ² Sun-Photon; and with v° ≠ 0

 v = √ [GM/a] = 24.1 km/sec; vº = 0.46511 – 0.241 = 0.224 km/sec

ΔΓ = 2 arc length/c = 2[Δ θ] d/c = 16πGM/c³ [1 + (vº/v)]² = 247.597x[ 1 + ().224/24.1)]²

Δ Γ = 250 µs For Mars; 0.4651 = Earth rotation; 0.241 = mars rotation; v = mars speed 

17 - Chadwick’s Neutron mistake

Chadwick under investigation for 1932 Neutron mistake 

Abstract: Charge is lost like in pair annihilations and gained like in 1932 Chadwick's Neutron discovery experiment as if charge is a hat we can wear or hang it for a while. This sort of loss or gain of a property based on motion can not be a physical property but more like motion geometry. In this paper I discuss James Chadwick experiment and will show that the neutron is the same as the proton. Meaning the neutron and the proton are the same particle with the same mass. 
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I taught in colleges for few years and I can explain it and it is called Scatter. If you been in a nuclear lab you have these samples of radioactive material bombarding a Geiger counter. Not every one hit on the Geiger count one hit. Geiger counter has no means of telling if he got hit once or twice in a single spot. Radioactivity is not a clock timed emission but a sporadic behavior. The difference between the total mass and the counted mass is the scattered mass divided by the number of the Geiger count give average lost mass per proton when added to the proton mass it was claimed as the neutron mass

Numerical example: What you have is like this: Assume you have 100 protons each ways 2 grams and total mass is 200. But you did not know that. You only know that you have 200 grams of radioactive material and used the Geiger counter because unless you count it you will never know how much protons you had. At the beginning you can only know the total mass you lose five protons and you counted 95 protons two grams each and a loss of 10 grams. 

You are saying

I had 200 grams now I have a count of 95 protons two grams each

Then an energy loss of ten grams had happened

10 divided by 95 = 0.105 grams per proton mass loss

 So each proton is 2 grams and a loss of energy of 0.105

 Then there must be a Neutron that ways 2.105 

Proof: Proof: An Alpha α bombarded Beryllium Be.

Or α ------------------------> Be ---------------------> N (0) m (p)

These particles go through diffraction and then through Paraffin which is a Wax with high thermo absorption that suck these high speed particles and becomes very dark carbon. 

N (0) m (p) suffered scatter and approximated as decay

And the new number of protons is:

N m (p) = N (0) m (p) Exp (- λ t) decay to count the new number 

N m (p) = N (0) m (p) Exp [1 - λ t]

             = N (0) m (p) - N (0) m (p) λ t

N = N (0) - N (0) λ t = N (0) - d N 

Or N (0) = N + d N; d N = - N (0) t/ T; T is the life time of the radioactive sample. 

So, N = N (0) - N (0) t/ T = N (0) [1 - t/T] the number of particles changed

Or we lose N (0) /T particles every t/T seconds

Page 38

What Chadwick did or his mistake is: 

N / N (0) = [1 - t/T] 

No Loss of particles but loss of mass in each particle m (0) t/ T in T time 

This mass of particle is m (0) = Proposed Neutron and m = m (p) 

Instead of using N / N (0) = [1 - t/T] 

Chadwick used m (p) = m (0) [1 - t/T] 

And m (0) = m (p) / [1 - t/T]

With t/T = 1/ 726.2390 seconds or little over 1/12 minutes 1979 data 

And m (p) = 1836.12 m (e)

And said there must be a Neutron

Or mass of Neutron m (n) = m (p) / [1 - t/T] = 1838.6511 m (e) 

Conclusion: Average decay per proton m (p)/ T = 2.528258604 m (e) lost mass due to decay. When added to m (p) that is m (p) + m (p)/T ≠ m (n) = 1838.6511 m (e) 

And ∑1838.65 m (e) =∑ 1836.12 m (e) + ∑ 2.53 m (e) 

Initial number of protons = Geiger counted protons + scattered protons

The assumption that there is a Neutron inside the nucleus is not only wrong but silly to say the least.        

18 - MIT Time Dilation tricks for funds

T = t + [T- t]

T = T

T = t [T/t]

T/t = e ỉ θ; θ = arc tan (v/c)         this is the magic sock equation for looting

T = t e ỉ θ= t [cosine θ + ỉ sine θ]

T = T (x) + ỉ T (y) = t [cosine θ + ỉ sine θ]

T (x) = = t cosine θ = t [1 - 2 sine² (θ/2)]

Δ Γ = T (x) - t = - 2 t sine² (θ/2)

Δ Γ = T (x) - t = - 2 t sine² {1/2[arc tan (v/c)]}

Δ Γ = - 2 t sine² {1/2[arc tan (v/c)]}
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With (v/c) = 1/n = 1/1.0003 = n = index of refraction of air

Δ Γ = - 2 t sine² {1/2[arc tan (1/1.0003)]}

Δ Γ/t = - 2 sine² {1/2[arc tan (1/1.0003)]}

Δ Γ/t = - 0.292787177

N = N (0) e Δ Γ/t = - 2 sine² {1/2[arc tan (v/c)]}

N = N (0) e - 2 sine² {1/2[arc tan (v/c)]}

 N = N (0) e Δ Γ/t = - 0.292787177

N = N (0) e = - 0.292787177

Time dilations tricks are scatter decay experiments. I taught in colleges for few years and I can explain it and it is called Scatter decay and not time dilations. 

In an MIT 1962 video that is sold and distributed around the world two gentlemen had a bucket with a photo sensor inside it registering flashes between two elevations at a mountain top and at sea level   

The vertical showers of μ - Meson were counted through a horizontal counter:
On a mountain top of 2 km height ....... 564 flashes caught on screen and counted in one hour   

At sea Level.......................................... 412 flashes caught on screen and counted in one hour

This count is given as experimental proof of the existence of μ - Mesons and time dilations.

N = N (0) e - 0.292787177

N = 564 e - 0.292787177 = 420.8640

Is this time dilation?

Absolutely not!

Another way of doing this is

  2000 meters height   * * * * * * * * * * * * * * * * * * * * * * * * * *   

 1500 meters height    * *** * * ** * ** * * * ** * ** * * * ** * ** * *                        * * * *   

 1500 meters height    * *** ** * *** * *** * ** * *** * ** * ** * ***                      * ** * *

1000 meters height     *** ** ** * ** **** *** * *** * **** * ** ***                      ** * ***
0500 meters height     *** ** ** * ** **** *** * *** * **** * ** ***
N = 564 e - 0.292787177 = 420.8640

This is an excellent result because when measurements were done lots of factors are involved that determines n 
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Another way of doing this is taking n = d = density of air

The average density in this experiment is at 1 km level which is about 1.07 kg/m³

I say this is not time dilations but diffraction due to an increase of air density between the two different locations and here is the proof 

 The diffraction intensity N = N (0) e- ỉ ω t        

N = N (0) e - ỉ ω t; ω t = arc tan (1/ n); n v = c; n = index of refraction; v = velocity of light in medium; c = light speed in vacuum

N = N (0) [cosine ω t + ỉ sine ω t] = T (0) [1 - 2sine² (ω t/2) + ỉ sine ω t] = T (x) + ỉ T (y)

N (x) = N (0) [1 - 2sine² (ω t/2)] = T (0) {1 - 2sine² {[(arc tan (1/n)]/2}}

Δ N = N (x) - N (0) = - 2 N (0) sine² {[arc tan (1 /n)]/2}

Δ N = - 2 N (0) sine² {[arc tan (1 /n)]/2}

N (x) = N (0) cosine arc tan [1 /n)]  

N (x) = 564 cosine arc tan [1/ 1.07] = 412

 Average air density at 1 km altitude is about d = 1.07kg/ m³ estimated from engineering charts. Diffraction count is N = N (0) cosine arc tan (1/d)      

The μ - Meson count
On a mountain top of 2 km ................... 564 flashes caught on screen and counted in one hour   

At sea Level.......................................... 412 flashes caught on screen and counted in one hour

Average distance is 1 km and average density is 1.07kg/ m³  

N (x) = 564 cosine arc tan [1/ 1.07] 

               = 564 cosine arc tan (1/1.07)
         = 412

This fictitious method of proving the μ - Mesons was continued to give the μ - Meson a life time. To give this science fiction elementary particles 

19 - Dark energy Neutrino tricks (Moe)
Anti-neutrino + proton ---------> neutron + positron

Positron + electron --------------> Gamma + Gamma

Gamma caught by a sensor and amplified to a signal 1 --> signal 1 on Oscilloscope 1

Neutron + Cadmium --> [Cadmium eats neutron] --> coughs Gamma

Gamma caught by a sensor and amplified to a signal 2 --> signal 2 on Oscilloscope 2
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Reines and Cowan who claimed that if they install a tank of water close to a nuclear reactor building and shield it from cosmic radiation then the Neutrino can be found from seeing two γ- gamma signals.

The first signal γ- gamma signal is an indication of an Antineutrino capture by a neutron and the second γ- gamma signal is an indication of a neutron capture by cadmium and excited cadmium spits another γ- gamma signal  

A Water Tank with 200 liters of water and 40 CdCl2 or a mixture of tri ethyl benzene

	* --------------------------------------------------------------------- * 

signal 1 captured            25 μ seconds  later signal 2 captures

Signal 1 and two differ by a small size captured on oscilloscope screens                                                        


Water has a refractive index of 4/3 and try ethyl benzene has a refractive index of 1.44

There was a time window of 25 micro seconds shots were taken and when a # 1 signal appeared in this 25 micro-seconds window the second window showed another signal appearing within 0- 5 microseconds

A signal moving inside a medium is expected to get delayed from 0-5 micro seconds in a 0-25 micro second window

The diffraction slows the motion inside a medium with refractive index n:  T = T (0) e- ỉ ω t        

T = T (0) e - ỉ ω t; ω t = arc tan (1/ n); n v = c; n = index of refraction; v = velocity of light in medium; c = light speed in vacuum

T = T (0) [cosine ω t + ỉ sine ω t] = T (0) [1 - 2sine² (ω t/2) + ỉ sine ω t] = T (x) + ỉ T (y)

T (x) = T (0) [1 - 2sine² (ω t/2)] = T (0) {1 - 2sine² {[(arc tan (1/n)]/2}}

Δ T = T (x) - T (0) = - 2 T (0) sine² {[arc tan (1 /n)]/2}

Δ T = - 2 T (0) sine² {[arc tan (1 /n)]/2}

T (x) = T (0) cosine arc tan [1 /n)]  

T (x) = T (0) cosine arc tan [3/4] = 0.8 T (0)

T (x) - T (0) = 0.2 T (0) 

Δ T = 0.2 T (0)  
The assumption that the free neutrino is detected at the Savannah River nuclear power plant experiment in 1953 and published in nature 1956 by Reines and Cowan and advertised by United Nations in 1958 is not only wrong but dead wrong. The claim of a second signal detection delayed 5 micro second after the pair annihilation indicating a neutron capture by Cadmium and proving the existence of the neutrino to support Wolfgang Pauli Neutrino theory and relativity theory is not justified. Here is why
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Proof: The gate length is T (0) = 25 μ s (microseconds)

The Container that had Cadmium is basically Tri ethyl benzene mixed with water. The refractive index of water at 25°C is 1.333 ~ 4/3 and the refractive index of tri ethyl benzene is 1.44 with 5 to 1 ratio water to tri ethyl benzene which is a minor distraction to water refractive index.

Δ T = - 2 x 25 sine² {[arc tan (~ 3/4)/2]} = 5 μ s time delays

Δ T = 0.2 T (0) = 0.2 x 25 = 5 μ s time delays

The coincidence of Pair annihilation gammas and Neutron capture gammas is not justified

If all the mixture was Tri ethyl benzene because the literature says it is a mixture and it say it is tri ethyl benzene

Δ T = - 2 x 25 {[sine² arc tan (1/1.44)]/2} = 4.46575 μ s time delays

The delayed signal within the 5 μ s intervals is not a sign of Neutrino capture but a flash of light caught traveled and caught delayed. Meaning it is the same gamma and not two different gammas. What Reines and Cowan did is measuring the same signal in a 25 micro second interval at the start they measured the signal and in that 25 micro seconds interval the signal had 5 micro seconds signal time delay that was measured as a second event. Reines and Cowan claimed two signals the first event was the signal of pair annihilation and the second event is the neutron capture and releasing a second gamma ray when in fact looking at the same signal. This is the basis of all dark energy fraud    

20 - California institute of technology Ahmed Zewail Femto Chemistry historical mistake

  Γ = t ℮ ỉ θ; θ = arc tan (v/c)
The Nobel Prize in Chemistry 1999

"for his studies of the transition states of chemical reactions using femto second spectroscopy"

Dr Ahmed Zewail 

Nobel Lecture

Femtochemistry: Atomic-Scale Dynamics of the Chemical Bond Using Ultrafast Lasers
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Or finding t

In his Nobel work Dr Zewail used Cyanogenic iodide with λ = 306 nanometer; 1 nanometer = 10 - 9 and watched it fluoresces at λ = 388.9; t = 200 femto seconds; 1 femto second = 10 - 15 second  

He shot a Laser beam to stir a solution that contained crystal of Cyanogenic iodide

Then every 10 femto seconds he shot again to see what happens and after the last shot he concluded the stir is dead and Cyanogenic iodide broke

ICN ----------------> CN + I 

The index of refraction of Cyanogenic iodide is n = 1.64 [US Army articles on the net]

With λ = c T: T (1) = 306 x 10 - 9/3 x 10 8 = 102 x 10 - 15

With λ = c T: T (2) = 388.9 x 10 - 9/3 x 10 8 = 129.633 x 10 - 15

Δ Γ = T (1) - T (2) = - 27.6333 x 10 - 15

And Δ Γ = - 2 t sine ² arc tan (v/c)

And Δ Γ = - 2 t sine ² arc tan (1/n)

And -2 sine ² arc tan (v/c) = - 0.1455

And t = Δ Γ / - 2 t sine ² arc tan (1/n) = - 27.6333 x 10 - 15/ - 0.1462 = 190 x 10 - 15

Or t = 190 x 10 - 15
The last shot is just a waste

Dr Zewail number is 200 +/- 30 femotseconds

Other Nobel Prize winner used the same visual trick at Micro scale

Then Nano technology came and used the same trick at nano scale 

And then Pico technology came and used it at pico scale

I am not saying Dr Ahmed Zewail is wrong what I am saying is Dr Zewail and all others are wrong and Dr Zewail is another Nobel and no Nobility. 
21 - The Global Positioning System or GPS 45 micro seconds per day time delays have nothing to do with Einstein's relativity theory time travels confusions of physics and they are a consequence of Satellite orbital speed and Earth rotational speed given by this formula below. Even if Einstein's formulas were correct for all practical purposes they are insignificant to the performance to the GPS system. Earth - Satellite distance is a variable that Engineers account for and the tiny "relativistic" effect has no significance whatsoever because distance adjustment is far more than any relativistic adjustment. GPS time delays of 45 micro seconds per day have nothing to do with relativity theory or Einstein silly time travel physics or any theory. 

W" (ob) = (-720x3600x15) [(v° +/- v*)/c] ² arc sec /day 

T = period; ε = eccentricity; v° = spin velocity of earth; v*= orbital velocity of satellite
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And v* = 14000km/hr = 3.88888888889 km/s; ε = 0
T = 0.5 days and v° = 0.465km/s

W" (ob) = (-720x3600x15) [(v° +/- v*)/c] ² arc sec /day
U = W" x (24/360) = 45.016microsecond per day 

Relativity theory silly professor of time travel accounted for 38 Micro seconds and blamed the other 7 Micro seconds on weather! 
Proof: 

For 350 years Physicists Astronomers and Mathematicians and philosophers missed Kepler's time dependent Areal velocity wave equation solution that changed Newton's classical planetary motion equation to a Newton's time dependent wave orbital equation solution and these two equations put together combines particle mechanics of Newton's with wave mechanics of Kepler's into one time dependent Universal Mechanics equation that explain "relativistic" as the difference between time dependent measurements and time independent measurements of moving objects and in practice it amounts to light aberrations visual effects along the line of sight of moving objects. GPS is an old subject that I knew about from Doctor Shapiro's original work of Interplanetary GPS of Early seventies or Shapiro's Time delays. 

Data: T = 0.5 days satellite orbital Period; ε = 0

And v° = 0.465km/sec Earth spin speed; 

And v* = 14,000 km/hr = 35/9 km/second

Then v* +/- v° = 35/9 = 3.88888889km/sec - 0.465km/second
We subtracted because satellite and motion and spin orientations are opposite 

GPS time delays are given by this formula per day in seconds of an arc 

W" (cal) = (-720x3600/T) {[√ (1-ε²)]/ (1-ε) ²]} [(v° +/- v*)/c] ² seconds/day

W" (cal) = (-720x3600/0.5) (1) [3.423888889/300,000] ² seconds of arc /1 day

W" (cal) = 0.000675246"/day

U [seconds] = 0.000675246 x [24/360] seconds/day

U = 0.000045016 seconds/day = 45 micro seconds /day
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Chapter four
The simplest problem in physics that all modern physicists could not solve by any physics: Space motion of binary (two) stars 

1 – As Camelopardalis
2 – DI Herculis

3 – V1143 Cygni

4 – V 541 Cygni

5 - AI Hydra

6 - V 731 Cephei

7 - SW Canis Majoris

8 - NV Canis Majoris

9 - GG Orion

10- CM Draconis 

11 – PSR 1913 + 16

12 – PSR 0737 – 3039

Solution:          
Location r = r r (1)  

Velocity v = r' r (1) + r θ' θ (1)
Acceleration γ = (r" - rθ'²) r (1) + (2r'θ' + r θ") θ (1)
S = m r; State = mass x distance 

P = d S/ d t = d (m r)/d t = m (d r/d t) + (d m/d t) r

Velocity = v = (d r/d t); mass rate change = m' = (d m/d t)  

P = m v + m' r; Momentum = change of state = change in location or change in mass 

F = d P/d t = d² S/d t² = d [m (d r/d t) + (d m/d t)]/d t

   = m d² r/d t² + (d m/d t) (d r/d t) + (d m/d t) (d r/d t) + (d² m/d t) ² r

F = m d² r/d t² + 2 (d m/d t) (d r/d t) + (d² m/d t) ² r
Force = Change of momentum

F = m a + 2 m ' v + m" r

F = - GmM/r²   

Or, Newton's Kepler's equation:  F = - GmM/r²   

Then

With d² (m r)/dt² - (m r) θ'² = -GmM/r² Newton's Gravitational Equation (1)

And d (m²r²θ')/d t = 0               Kepler's force law                                 (2)
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With m = constant, then m can be taken out from both equations (1) and (2)
With d² r/d t² - r θ'² = - GM/r²     Newton's Gravitational Equation     (1)

And d (r²θ')/d t = 0                     Kepler's force law                         (2)

From 2: With m = constant; then d (m²r²θ')/d t = 0 

And m² d (r²θ')/d t = 0

And d (r²θ')/d t = 0

And r²θ' = h 

With (1): d² (m r)/dt² - (m r) θ'² = -GmM/r²

With m = constant

Then m [d² r/ d t² - r θ'²] = - Gm M/ r²     

And [d² r/ d t² - r θ'²] = - G M/ r²     

Let r =1/u

Then d r/d t = -u'/u² = - (1/u²) (θ') d u/d θ = (- θ'/u²) d u/d θ = - h d u/d θ

And d² r /d t² = - h θ'd²u/dθ² = - h u² [d²u/dθ²]

And - h u² [d²u/dθ²] - (1/u) (hu²)² = - G Mu²

Or, [d²u/ dθ²] + u = G M/ h ²

u = G M/ h² + A cosine θ 

And r = 1/u = 1/ [G M / h² + A cosine θ]

              = (h²/ G M)/ [1 + (Ah²/ GM) cosine θ]

              = (h²/GM)/ (1 + ε cosine θ)

Then r (θ, 0) = a (1-ε²)/ (1+ ε cosine θ)

This is Newton's Classical Equation solution of two body problem. We solved this equation and we got the motion equation:
Is: r (θ, t) = [a (1-ε²)/ (1+ ε cosine θ)] which is the equation of an ellipse with eccentricity ε and semi - major axis a, and a semi- minor axis whose value is b = a √ [1 - ε²] and two foci one equals to c = ε a, and the other foci location equals to - c = - ε a. Or the motion of one ball around the other ball should be an ellipse with the other ball at one of the foci +/- ε a, of the ellipse with semi major axes (- a, a) on x-axis and semi minor axes (-b, b) on y- axis and foci (- c, c) on x- axis again with angle of rotation θ. If this law to work on two planets instead of two balls like planetary motion around the sun, then Astronomers should see this motion of a planet moving around the sun in an ellipse with the sun at one of its foci. 
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[image: image16]
What astronomers saw was not an ellipse but a rotating ellipse like the ellipse below wth rotating angle ψ


[image: image17]
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Astronomy re - written
W° (calculated) = (-720x36526/T) {[√ (1-ε²)]/ (1-ε) ²]} [(v° + v*)/c] ² degrees/100 years
	Primary →

Secondary ↓
	v°(p) ↑ v* (p)↑
	v° (p) ↑v* (p)↓
	v° (p) ↓ v* (p) ↑
	v° (p) ↓V* (p) ↓

	v°(s) ↑ v* (s)↑
	Spin=[↑,↑][↑,↑]=orbit
	[↑,↑][↓,↑]
	[↓,↑][↑,↑]
	[↓,↑][↓,↑]

	Spin results
	v°(p) + v°(s)
	v°(p) +  v°(s)
	- v°(p) +  v°(s)
	-v°(p) + v°(s)

	Orbit results
	v*(p) + v*(s)
	-v*(p) +  v*(s)
	 v* (p) +  v*(s)
	-v* (p) + v* (s)

	Examples
	AS CAM
	
	
	

	v° (s) ↑v* (s)↓
	[↑,↑][↑,↓]
	[↑,↑][↓,↓]
	[↓,↑][↑,↓]
	[↓,↑][↓,↓]

	Spin results
	v°(p) + v°(s)  
	v°(p) + v°(s)
	-v°(p) +  v°(s)
	-v°(p) +  v°(s)

	Orbit results
	v*(p) - v*(s)  
	-v*(p) - v*(s)
	v*(p) -  v*(s)
	-v* (p) -  v* (s)

	Examples
	
	
	
	

	v° (p) ↓ v*(s) ↑
	[↑,↓][↑,↑]
	[↑,↓][↓,↑]
	[↓,↓][↑,↑]
	[↓,↓][↓,↑]

	Spin results
	v°(p) - v°(s)  
	v°(p) - v°(s)
	-v°(p) -  v°(s)
	-v°(p) -  v°(s)

	Orbit results
	v*(p) + v*(s)  
	-v*(p) + v*(s)
	v*(p) +  v*(s)
	-v* (p) +  v* (s)

	Examples
	
	
	
	AS CAM

	v° (s) ↓V*(s) ↓
	[↑,↓][↑,↓]
	[↑,↓][↓,↓]
	[↓,↓][↑,↓]
	[↓,↓][↓,↓]

	Spin results
	v°(p) -  v°(s)
	v°(p) -  v°(s)
	-v°(p) -  v°(s)
	-v°(p) -  v°(s)

	Orbit results
	v*(p) - v*(s)  
	-v*(p) - v*(s)
	v*(p) -  v*(s)
	-v* (p) -  v* (s)

	Examples
	
	
	
	AS CAM


W° (calculated) = (-720x36526/T) {[√ (1- ε²)]/ (1- ε) ²]} [(v° + v*)/c] ² degrees/100 years
1- As Cameloppardalis: Binary stars System  

AS Cam Data T=3.431; r (m) =0.1499; m=3.3 M (0); M=2.5 M (0)
R (m) =2.57 R (0); [v° (m), v° (M)] = [40, 30]; ε = 0.1695; 1- ε = 00.8305
R (M) = 2.5 R (0); r (M) =0.1111; m + M=5.8 M (0); G=6.673x10-11
M (0) = 2 x 1030 kg; R (0) = 0.696x109m; 
The circumference of an ellipse: 2πa (1 - ε²/4 + 3/16(ε²)²- --.) 
≈ 2πa (1-ε²/4); R =a (1-ε²/4)

Finding orbital velocities

From Newton's inverse square law of an ellipse motion applied to a circular orbit gives the following:  m v²/ r (cm) = GmM/r²

Planet --- r (cm) ----- Center of mass ------- r (CM) --------- Mother Sun 

Planet ------------------- r -------------------------------------- Mother Sun

Center of mass law m r (cm) = M r (CM); m = planet mass; M = sun mass

And r (cm) = distance of planet to the center of mass
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And r (CM) = distance of sun to center of mass

And r (cm) + r (CM) = r = distance between sun and planet 

Solving to get: r (cm) = [M/ (m + M)] r 

And r (CM) = [m/ (m + M)] r 

Then v² = [GM r (cm)/ r²] = GM²/ (m + M) r  

And v = √ [GM²/ (m + M) r = a (1-ε²/4)] 
Planet orbital velocity or primary velocity:

And v* (m) = v (m) = √ [GM²/ (m + M) a (1-ε²/4)] 
R =a (1-ε²/4)
Calculations: (1- ε²/4) = 0.9928 
 [√ (1-ε²)]/ (1-ε) ² = 1.43

With a = [R (m)/r (m)] = (2.57/0.1499) (0.696x109) = 11.9327x109
And v* (m) = √ [GM²/ (m + M) a (1- ε²/4)] = 110km/sec

= √ [6.673x10-11 (2.5)² (2 x 1030) / (5.8) 11.932x109 (0.9928)] = 110.178km/sec
And v* (M) = √ [GM²/ (m + M) a (1- ε²/4)] 

= √ [6.673x10-11 (3.3)² (2 x 1030) / (5.8) 11.932x109 (0.9928)] = 145.435 km/sec
Spin: v° = 40 + 30=70km/sec
And v* (e) = v* Earth = 29.8 km/sec
And vº (e) = 0.465 km/sec

Then v* + v °= v* (m) + v* (M) + v* (e) + vº (m) + v° (M) + vº (e) 
               = 110.178 + 145.435 + 70 + 29.8 – 0.465 = 355 m/sec

[√ (1-ε²)]/ (1-ε) ² = 1.43; T = 3.431days

W°= (-720x36526/T) x {√ [(1-ε²)] (1-ε) ²} {[v* + v°]/c} ²
W°= (-720x36526/3.431) x (1.43) (355/ 300,000) ² = 15.0°/century 

Dr Guinan and DR Maloney 1989: W°= 15°/century 1989

DR Khailullin and Dr Kozyreva: 1983 W º= 14.6 °/century  

Einstein: 44.3º/ century
2 - Binary stars System: DI Her Apsidal Motion Solution
DI Her Apsidal motion solution: 

Data:  T=10.55days   r(m) = 0.0621   m=5.15M(0)   R(m)=2.68R(0)   [v°(m),v°(M)]=[45,45] 
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 And ε = 0.4882;       r (M) = 0.0574   M=4.52 M (0)    R (M) =2.48; m + M=9.67 M (0)
L = 2000 +/- 200 Ly

Calculations

1- ε = 0.5118; (1-ε²/4) = 0.94; [√ (1-ε²)] / (1-ε) ² = 3.33181; 1 + ε = 1.4882; G=6.673x10-11; M (0) = 1.98892x19^30kg; R (0) = 0.696x109m

V* (p) = √ [GM²/ (m + M) a (1-ε²/4)] = 99.88 km/sec  

V* (s) = √ [Gm²/ (m + M) a (1-ε²/4)] = 113.8km/sec

A- Apsidal motion is given by this formula: 

W° (cal) = (-720x36526/T) {[√ (1-ε²)]/ (1-ε) ²]} [(v° + v*)/c] ² degrees/100 years

And v° = - 45 km/s - 45 km/sec = 90km/sec 

Now let us calculate v* (cm) = ∑m v/∑m = 106.38km/sec

With v* = 2 v*(cm) = 212.76 km/sec 

And v° = -90 km/sec

Then v* + v° = 212.76 - 90 = 122.76 km/sec and 

W° (cal) = (-720x36526/T) {[√ (1-ε²)]/ (1-ε) ²} sine² [Inverse tan 122.76/300,000]

                        = (-720x36526/10.55) (3.33181) (122.76/300,000)²

W° (cal) = 1.39°/century

With σ = √ {∑ [v* - v* (cm)] ²/2}

            = √ {[106.36 - 99.88]²/2 + [106.36 - 113.8]²/2} = 6.975 km/sec

Then W° (cal) = 1.39°/century +/- 0.16

Observed 2004: 1.39° +/- 0.3°/century; Relativity: 4.27°/century 

B - W° (cal) = (-720x36526/T) {[√ (1-ε²)]/ (1-ε) ²]} [(v° + v*)/c] ² degrees/100 years

With v° = - 45 km/s + 45 km/sec = 0 km/sec 

And v* = v* (cm) = ∑m v/∑m = 106.38km/sec

W° (cal) = (-720x36526/10.55) (106.38.300, 000) ² degrees/100 years
W° (cal) = 1.044 degrees/century

C - V* (p) = √ [GM²/ (m + M) a (1-ε²/4)] = 99.88 km/sec 

With v* x √ (1-ε²/4)/√ (1-ε) = 99.88 √ (.94)/√ (0.5118) = 135.36

And v* x √ (1-ε²/4)/√ (1+ ε) = 99.88 √ (.94)/√ (1.4882) = 79.38

K (A) = [(135.36 + 79.38)/2] = 107.37 km/sec 

V* (s) = √ [Gm²/ (m + M) a (1-ε²/4)] = 113.8 km/sec

With v* x √ (1-ε²/4)/√ (1-ε) = 113.8 √ (.94)/√ (0.5118) = 154.2254 km/sec
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And v* x √ (1-ε²/4)/√ (1+ ε) = 113.8 √ (.94)/√ (1.4882) = 90.44312 km/sec

K (B) = 122.3342 km/sec

V* = [m K (A) + M K (B)]/ (m + M) = 114.3646 km/sec

Or v* = [K (A) + K (B)]/2 = 114. 85 km/sec

With v* = 114.85 

W° (cal) = (-720x36526/T) {[√ (1-ε²)]/ (1-ε) ²} sine² [Inverse tan 114.85/300,000]

                        = (-720x36526/10.55) (3.33181) (114.85/300,000)²

             = 1.22° degrees/ century

Observed: 1.24° degree/century +/- 0.05°

Anyone got this? This is Einstein's and 100,000 relativity education death certificate. 

Real time physics solution of r (θ, t) = [a (1-ε²)/ (1+ ε cosine θ)] e [λ(r) + ỉ ω (r)] t
That gave an apsidal rate better than anything said or published in all of physics of:

W° (Cal) = (-720x36526/T) {[√ (1-ε²)]/ (1-ε) ²]} [(v° + v*)/c] ² degrees/100 years

The origin of relativity theory stupidity comes from Earth Orbit light aberration.

Orbit light aberrations can be found like this  

Γ = t (Γ/t) 

Γ= t e ỉ θ; Γ/ t = e ỉ θ; θ = arc tan (v/c); Γ= t e ỉ θ 
Γ (x) = t cosine θ = t [1 - 2 sine ² arc tan (v/c)]

Δ Γ = Γ (x) - t = - 2 t sine ² arc tan (v/c)

Δ Γ = - 2 x 365 26 x 23.933333 x 3600 sine ² arc tan [(v +/- v*)/c] sec/ century

Δ Γ = - 2 x 15 x 365 26 x 23.933333 x 3600 sine ² arc tan [(v +/- v*)/c] arc sec/century

In the original calculation of 1859 the used 1/2 cycle because of the proximity of Mercury to the SUN
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And Δ Γ = - 15x 365 26 x 23.933333 x 3600 sine ² arc tan [(v - v*)/c] arc sec/century

With v = 47.9 km/sec and v* = 29.8

Δ Γ = - 15 x 365 26 x 23.933333 x 3600 sine ² arc tan [(47.9 - 29.8)/c] arc sec/century

       = 43.0 arc second per century

Then they later came and used Venus as reference for measuring and used 
full cycle because Venus look like a morning star and can be seen better  

If t = 100 years and v = Orbital velocity of Mercury - Orbital velocity of Venus

Δ Γ = - 2 x 365 26 x 23.933333 x 3600 sine ² arc tan (47.9 - 35.1/300,000) sec

Δ Γ = - 2 x 15 x 365 26 x 23.933333 x 3600 sine ² arc tan (47.9 - 35.1/300,000)

       = 43.0 arc per century for mercury.

Venus is bright like a star and it is used to calculate Mercury's orbit. 

If t = 100 years and v = Orbital velocity of Venus - Orbital velocity of Earth

Δ Γ = - 2 x 15 x 365 26 x 23.933333 x 3600 sine ² arc tan (35.1 - 29.8/300,000)

      = 8.3 arc sec per century for Venus

Earth motion is used to calculate Venus' orbit. 

This same formula applies to stars

Δ Γ = - 2 x 15 x 365 26 x 23.933333 x 3600 sine ² arc tan [(v - v*)/c] arc sec/century

Velocity of DI Herculis primary star is 99.88 km/sec

Velocity of DI Herculis secondary star is 113.8 km/sec

Velocity of DI Herculis center of mass is 106 km/sec

The common practice of 1/2 period is well established and it makes apsidal motion double its value:

In 1984 DR Guinan and DR Maloney said it was 0 .65° and now 2010 it is 1.3° and in 2004 they said it is 1.04°. 

Martynov in 1979 showed it 1.24° and in 2008 he said it is it is 1.3°     

A range of 0.65° to 1.3° is Double

And reported periods of U = 46,700 years Petrova Manual to U = 27692.3 Martynov 2008. Where all of this came from?
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It all came from this equation and sometimes 1/2 the period 

Δ Γ = - 2 x 15 x 365 26 x 23.933333 x 3600 sine ² arc tan [(v - v*)/c] arc sec/century

V* (p) = √ [GM²/ (m + M) a] = 96.84 km/sec  

V* (s) = √ [Gm²/ (m + M) a] = 110.34km/sec

With v = [V* (p) + V* (s)]/2 = [96.84 + 110.34]/2 =103.5887398km/sec

And v + v* = 103.5887398 + 29.8 = 133.3887398

And v - v * = 73.7887398 

Δ Γ = - 2 x 15 x 365 26 x 23.933333 x 3600 sine ² arc tan [(v - v*)/c] arc sec/century

Δ Γ = - 2 x 15 x 365 26 x 23.933333 x 3600 sine ² arc tan [(133.39)/300,000] 

       = 1.3° arc sec/century

In the 1/2 period method 

Δ Γ = - 15 x 365 26 x 23.933333 x 3600 sine ² arc tan [(v - v*)/c] arc sec/century

      = 1.3 °/2 = 0.65°

Or, Δ Γ = - 15 x 365 26 x 23.933333 x 3600 sine ² arc tan [73.7887398] arc sec/century

      = 0.3933 °/century

And 2 Δ Γ = 0.795 or U = 45254 years 

References: Go to Smithsonian/NASA website SAO/NASA and type:  

1- Apsidal motion of DI Her: Dr Edward Guinan and Dr Frank Maloney; 1985.

2- New Apsidal Motion of DI Her: Dr Edward Guinan and Dr Frank Maloney; 1994.                  

3- D. YA.  Martynov; and KH. F. Khaliulullin 1980 

4- Petrie et al.1967

5- Petrova - Ovlav Apsidal motion catalogue

6- Riazi 2003

7- Maloney Guinan 2004
3 - V1143 Cgyni Apsidal Motion Solution

V1143 Cgyni data 

T= 7.641days; r (m) = 0.059; m =1.391 M (0); R (1) =1.346R (0); ε = 0.54
 And [v ° (m), v° (M)] = [18, 28]; r (M) = 0.058; M=1.347 M (0) 
Distance [38 +/- 2 parsec] = 123.956 +/- 6.524 Ly 

Calculations
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We have 1- ε = 0.46     1- ε²/4=0.9721 R (0) = 0.696x109m 
With a = [R (1)/r (m)] R (0) = 15.87823729x10^9m; 1+ ε = 1.54

With v (p -perihelion) = √ [GM²/ (m + M) a (1- ε)] = 110 km/sec

And v (p- aphelion) = √ [GM²/ (m + M) a (1+ε)] = 60 km/sec

K (A) = (110 + 60)/2 = 170/2 = 85km/sec

With v (s - perihelion) = √ [Gm²/ (m + M) a (1-ε)] = 113.6 km/sec

And v (s - aphelion) = √ [Gm²/ (m + M) a (1+ε)] = 62 km/sec

K (B) = (113.6 + 62)/2 = 175.6/2 = 87.8km/sec

With v (1) = √ [GM²/ (m + M) a] = 74.632 km/sec 

And v (2) = √ [Gm²/ (m + M) a] = 77.0699 km/sec

When spinning on opposite directions 
1- With v° [21, 28] = 28 - 21 = 7

2- With v° [18, 28] = 28 - 18 = 10

3- Taking average 10 + 7/2 = 8.5

With v (m) = √ [GM²/ (m + M) a (1-ε²/4)] = 77.5126 km/s

And v (M) = √ [Gm²/ (m + M) a (1-ε²/4)] = 80.00448 km/s 

Also, [√ (1-ε²)]/ (1-ε) ² = 3.977622971

Now: 

With 1- v° + v* = 157.51648km/sec - 10 km/sec = 147.51648km/sec 

And 2- v° + v* = 157.51648km/sec - 8.5 km/sec = 149.01648km/sec 

And 3- v° + v* = 157.51648km/sec - 7 km/sec = 150.51648km/sec 

W° (obo) = (-720x36526/T) x {[√ (1-ε²)]/ (1-ε) ²} {[v* + v°]/c} ²

1- W°/century= (-720x36526/7.641) (3.977622951) (147.51648/300,000)²=3.31°/century

2- W°/century= (-720x36526/7.641) (3.977622951) (149.01/300,000)²=3.3778°/century

3- W°/century= (-720x36526/7.641) (3.977622951) (150.51648/300,000)² = 3.44614561°/century

With v* = 2 v* (cm) = 157.4770 km/sec

And v ° = v° (p) - v° (s) = 21 - 28 = -7 km/sec

Then v* + v ° (p) = 157.477 - 7 = 150.477 km/sec

W° /century= (-720x36526/7.641) (3.977622951) (150.477/300,000)²=3.44°/century 

Observed values are: W° = 3.393987698°/century; W° = =3.489592985

Average observed: 3.44°/ century
References: 
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1-Geminez and Margrave, 1985 

[0.00071°/cycle] = [1 century = 36526days/7.641days] = 3.393987698°/century

2- Anderson and Nordstrom and Garcia and Geminez 1987: 0.00073°/cycle

  [0.00073°/cycle] = [1 century = 36526days/7.641days] = 3.489592985°/century 

Relativity theory: 4.254435283°/ century = 0.00089°/cycle

4- V541Solution: Apsidal motion catalogue 

W° (cal) = (-720x36526/T) {[√ (1-ε²)]/ (1-ε) ²} [(v°+ v*)/c] ² degrees/100 years  

T = 15.3379days  r(m)=0.0440   m = 2.4M(0)   R(m)=1.88R(0)     [v°(m),v°(M)]=[24±2,24±2]

And ε = 0.479         r (M) =0.0425 M=2.4 M (0)    R (M) =1.79 R (0)    
With 1- ε = 0.521   1-ε²/4=0.94263975; [√ (1-ε²)]/ (1-ε) ² = 3.2339

And a = [R (m)/r (m)] R (0) = (1.88/0.0440)0.696x10^9m = 29.73818182x10^9m

Then a (1-ε²/4) = 28.03x10^9m

And v (m) = √ [GM²/ (m + M) a (1-ε²/4)] = 75.5883km/sec; v° (m) =24 

And v (M) = √ [Gm²/a (m + M) (1-ε²/4)] = 75.883km/sec; v° (M) =24

With v°=24 + 24= 44km/sec

And v* = 151.1766km/sec

With v* + v°= 151.1766 - 48 = 103.1766km/sec

W° (ob) = (-720x36526/T) {[√ (1-ε²)]/ (1-ε) ²]} {[v* + v°]/c} ²

W° (ob) = (- 720 x 365226/15.3379) (3.2339) (103.1766/300,000)²

W° (ob) = 0.65°

Notice: [v° (m), v° (M)] = [24 ± 2, 24 ± 2]

If v° (m) = v° (M) = 24 + 2 = 26 

Then v* + v°= 151.1766 - 52 = 99.1766km/sec

And W° (ob) = (- 720 x 365226/15.3379) (3.2339) (99.1766/300,000)²

W° (ob) = 0.60°/century

Observed is W°= 0.60° +/ -0.1/century Lacy = [0.5°; 0.7°]

Relativity: W° = 0.97°/century

1- Apsidal motion of V541Cgyni Lacy 1989
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5 - AI Hydra apsidal motion puzzle solution

W° (cal) = (-720x36526/T) {[√ (1-ε²)]/ (1-ε) ²} [(v°+ v*)/c] ² degrees/100 years  

AI Hydra Apsidal motion solution: 

Data:  T=8.29days   r(m) = 0.1418   m=2.15M(0)   R(m)=3.92R(0)   [v°(m),v°(M)]=[28,27]; and ε = 0.0.23;       r (M) = 0.1002   M=1.98 M (0)    R (M) =2.77(0); m + M=4.13 M (0); L = 575 +/- 15 Ly

Calculations

1-ε = 0.77; (1-ε²/4) = 0.986775; [√ (1-ε²)] / (1-ε) ² = 1.6414  

G=6.673x10^-11; M (0) = 1.98892x19^30kg; R (0) = 0.696x10^9m

Then a = [R (m) / r (m)] = 19.24062059 x 10 ^ 9 m

V (m) = √ [GM²/ (m + M) a (1-ε²/4)] = 81.11439578 km/sec  

V (M) = √ [Gm²/ (m + M) a (1-ε²/4)] = 88.11km/sec

Apsidal motion is given by this formula: 

W° (ob) = (-720x36526/T) {[√ (1-ε²)]/ (1-ε) ²]} [(v° + v*)/c] ² degrees/100 years

With v* = v (m) + v (M) = 81.11439578km/sec + 88.11km/sec = 169.2243958km/sec

And v° = v° (m) + v° (M) = 28 + 27 = 55 km/sec   

Then (v* + v°) = 224.2243958 km/sec

W° (ob) = (-720x36526/T) {[√ (1-ε²)]/ (1-ε) ²} sine² [Inverse tan 224.2243958/300,000]

             = (-720x36526/8.29) (1.6414) (224.2243958/300,000)²

             = 2.90°/ century   

W° (observed) = 2.90°/century as measured 

Observed is 2.90°/century

Space-Time Relativity theory 6.8° / century

Now let us calculate v* (cm) = ∑m v/∑m 

                                            = 2.15 x 81.11439578 + 1.98 x88.11= 84.46822 km/sec

With v* = 2 v*(cm) = 168.936411 km/sec 

And v° = 55 km/sec

Then v* + v° = 223.9364411 km/sec and 

W° (observed) = (-720x36526/T) {[√ (1-ε²)]/ (1-ε) ²} sine² [Inverse tan 223. 936/300,000]
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= (-720x36526/10.55) (3.33181) (223.9364411/300,000)²

W° (observed) = 2.9°0/century

With σ = √ {∑ [v* - v* (cm)] ²/2}

            = √ {[88.11 -84.46822]²/2 + [81.11439578 - 84.46822]²/2} 

            = √ {[3.64178]²/2 + [3.35382422]²/2} = 3.5 km/sec 

Then W° (ob) = 2.9°0/century; observed is W° = 2.9°/per century

And Einstein's 100,000 space-timers 6.8° / century

References: Go to Smithsonian/NASA website SAO/NASA and type:  

1- Apsidal motion of AI Hydra Popper 1985 

2- KH. F. Khaliulullin and V.S Kozyreva 1988 

3- Petrova - Ovlav Apsidal motion catalogue 1999

6 - V731Cehpei Apsidal Motion Solution

	Primary →

Secondary ↓
	v°(p) ↑ v* (p)↑
	v° (p) ↑v* (p)↓
	v° (p) ↓ v* (p) ↑
	v° (p) ↓V* (p) ↓

	v°(s) ↑ v* (s)↑
	Spin=[↑,↑][↑,↑]=orbit
	[↑,↑][↓,↑]
	[↓,↑][↑,↑]
	[↓,↑][↓,↑]

	Spin results
	v°(p) + v°(s)
	v°(p) +  v°(s)
	- v°(p) +  v°(s)
	-v°(p) + v°(s)

	Orbit results
	v*(p) + v*(s)
	-v*(p) +  v*(s)
	 v* (p) +  v*(s)
	-v* (p) + v* (s)

	Examples
	V731Cephei
	
	
	

	v° (s) ↑v* (s)↓
	[↑,↑][↑,↓]
	[↑,↑][↓,↓]
	[↓,↑][↑,↓]
	[↓,↑][↓,↓]

	Spin results
	v°(p) + v°(s)  
	v°(p) + v°(s)
	-v°(p) +  v°(s)
	-v°(p) +  v°(s)

	Orbit results
	v*(p) - v*(s)  
	-v*(p) - v*(s)
	v*(p) -  v*(s)
	-v* (p) -  v* (s)

	Examples
	
	
	
	

	v° (p) ↓ v*(s) ↑
	[↑,↓][↑,↑]
	[↑,↓][↓,↑]
	[↓,↓][↑,↑]
	[↓,↓][↓,↑]

	Spin results
	v°(p) - v°(s)  
	v°(p) - v°(s)
	-v°(p) -  v°(s)
	-v°(p) -  v°(s)

	Orbit results
	v*(p) + v*(s)  
	-v*(p) + v*(s)
	v*(p) +  v*(s)
	-v* (p) +  v* (s)

	Examples
	
	
	
	

	v° (s) ↓V*(s) ↓
	[↑,↓][↑,↓]
	[↑,↓][↓,↓]
	[↓,↓][↑,↓]
	[↓,↓][↓,↓]

	Spin results
	v°(p) -  v°(s)
	v°(p) -  v°(s)
	-v°(p) -  v°(s)
	-v°(p) -  v°(s)

	Orbit results
	v*(p) - v*(s)  
	-v*(p) - v*(s)
	v*(p) -  v*(s)
	-v* (p) -  v* (s)

	Examples
	
	
	
	V731Cephei


Next the same equation will be used to find the advance of Periastron or "apparent" apsidal motion of V731 binary stars system. 

V731Cehpei Apsidal Motion Solution

W° (ob) = (-720x36526/T) {[√ (1-ε²)]/ (1-ε) ²} [(v°+ v*)/c] ² degrees/100 years  

V731data [see below] 
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T= 6.068567days; m= 2.577 M (0); M = 2.577 M (0); [v° (m), v° (M)] = [19+/-3, 18+/-3]

ε = 0.0165           a = 23.27x R (0)

Calculations

M + m = 2.738; 1-ε=0.9835     1-ε²/4=0.9999 R (0) = .696x10^9m 

With v° [21, 28] = [19 +/- 3] + [18 +/- 3] = 37 +/- 6

With v* (p) = √ [GM²/ (m + M) a (1-ε²/4)] = 85.6111965km/sec

And v* (M) = √ [Gm²/ (m + M) a (1-ε²/4)] = 109.38km/sec

Also, [√ (1-ε²)]/ (1-ε) ² = 1.033694356

With v* (cm) = 2∑m v∑/m = 96.46688km/sec; 2 v* (cm) = 192.9337619

And σ = √ {∑ [v*-v* (cm)] ²/2} = √ {[96.46688 - 85.6] ²/2} + 
{[109.38 - 96.46688] ²/2} = 11.9288422 km/sec

With v* (p) = 85.6111965km/sec +/- 11.9288422 km/sec

And v* (s) = 109.38km/sec +/- 11.9288422 km/sec

Then v* (p) + v* (s) = [192.9337619 +/-] x 2 = 23.8567844 km/sec 

Then v* + v° = 229.9288422km/sec +/- 29.8567844 km/sec 

Now: Taking the upper limit

Then v* + v° = 229.9288422km/sec + 29.8567844 km/sec = 259.7856266 km/sec

W° (obo) = (-720x36526/T) x {[√ (1-ε²)]/ (1-ε) ²} {[v* + v°]/c} ²

W°/century= (-720x36526/6.068567) (1.033694356) 
(259.7856266 /300,000)²=2.91°/century

W°/century = 3.35914177°/century = 0.0335914177°/year

U = 360/0.0335914177° = 10717 years
Observed values are U = 10000 +/- 2500 

References: 1- Absolute dimensional and apsidal motion of V731Cep

V. Batkis; M.Zejda; I. Bulut; M.Wolf; S. Bilir; H. Bakis; O.Demircan: J.w.Lee: M.Slechta: B. Kucerova. 2008  
7 - NV CMa Binary stars apsidal motion table

8 - NV CMa apsidal motion solution:

Data:  T=1.885159 days; ε = 0; v* (p) = 128.55 km/sec; v* (s) = 130.87 km/sec

[√ (1-ε²)] / (1-ε) ² = 3.33181; v° (p) = 51.7 km/sec and v° (s) = 52.4 km/sec

Apsidal motion is given by this formula: 

W° (ob) = (-720x36526/T) {[√ (1-ε²)]/ (1-ε) ²]} [(v° + v*)/c] ² degrees/100 years
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With v* = v* (p) + v*(s) = 259.42 km/sec and v° 
= v° (p) + v° (s) = 104.1

And v* + v° = 363.52 km/sec

W° (observed) = (-720x36526/T) {[√ (1-ε²)]/ (1-ε) ²} 
sine² [Inverse tan 363.52/300,000]

                        = (-720x36526/1.885159) (1) (363.52/300,000)²

                       = 20.48333818°/century = 0.2048333818°/year

U = 360°/0.2048333818°/year; 

U = 1757. 5 years

References: Go to Smithsonian/NASA website SAO/NASA and type:  

Absolute dimensions NV CMa; Kaluzny, J; Pych, W; Rucinski, S. M; Thompson, I.B  

Relativity theory coffin nail # 8 SW Canis Majoris 

W° (cal) = (-720x36526/T) {[√ (1-ε²)]/ (1-ε) ²]} [(v° + v*)/c] ² degrees/100 years

T = period = 10.09 days; ε = eccentricity = 0.3179 

And v° = spin velocity effect = v° (p) + v°(s) = 57km/sec

And v*= orbital velocity effect = v*(p) + v* (s) 
= 80.5 + 87.8 = 168.3 km/sec

For SW Canis Majoris: v* + v° = 225.3km/sec

W° (observed) = 2.99565967°/century = 0.0299565967°

U = 360/ 0.0299565967= 12017years 
U (observed) = 12,000 years 

Einstein and space-timers 14,000 years
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SW Canis Majoris Binary stars 

	Primary →

Secondary ↓
	v°(p) ↑ v* (p)↑
	v° (p) ↑v* (p)↓
	v° (p) ↓ v* (p) ↑
	v° (p) ↓V* (p) ↓

	v°(s) ↑ v* (s)↑
	Spin=[↑,↑][↑,↑]=orbit
	[↑,↑][↓,↑]
	[↓,↑][↑,↑]
	[↓,↑][↓,↑]

	Spin results
	v°(p) + v°(s)
	v°(p) +  v°(s)
	- v°(p) +  v°(s)
	-v°(p) + v°(s)

	Orbit results
	v*(p) + v*(s)
	-v*(p) +  v*(s)
	 v* (p) +  v*(s)
	-v* (p) + v* (s)

	Examples
	Sw Canis Majoris
	
	
	

	v° (s) ↑v* (s)↓
	[↑,↑][↑,↓]
	[↑,↑][↓,↓]
	[↓,↑][↑,↓]
	[↓,↑][↓,↓]

	Spin results
	v°(p) + v°(s)  
	v°(p) + v°(s)
	-v°(p) +  v°(s)
	-v°(p) +  v°(s)

	Orbit results
	v*(p) - v*(s)  
	-v*(p) - v*(s)
	v*(p) -  v*(s)
	-v* (p) -  v* (s)

	Examples
	
	
	
	

	v° (p) ↓ v*(s) ↑
	[↑,↓][↑,↑]
	[↑,↓][↓,↑]
	[↓,↓][↑,↑]
	[↓,↓][↓,↑]

	Spin results
	v°(p) - v°(s)  
	v°(p) - v°(s)
	-v°(p) -  v°(s)
	-v°(p) -  v°(s)

	Orbit results
	v*(p) + v*(s)  
	-v*(p) + v*(s)
	v*(p) +  v*(s)
	-v* (p) +  v* (s)

	Examples
	
	
	
	

	v° (s) ↓V*(s) ↓
	[↑,↓][↑,↓]
	[↑,↓][↓,↓]
	[↓,↓][↑,↓]
	[↓,↓][↓,↓]

	Spin results
	v°(p) -  v°(s)
	v°(p) -  v°(s)
	-v°(p) -  v°(s)
	-v°(p) -  v°(s)

	Orbit results
	v*(p) - v*(s)  
	-v*(p) - v*(s)
	v*(p) -  v*(s)
	-v* (p) -  v* (s)

	Examples
	
	
	
	SW Canis majoris


SW CMa apsidal motion solution: 

Data:  T=10.09 days; r (m) = 0.0942; m = 2.22 M (0); R (m) = 3.01R (0); ε = 0.3179      

And r (M) = N/A   M = 2.03 M (0)    R (M) =2.46 R (0); m + M = 4.25 M (0)

And [v° (m), v° (M)] = [30+/-2, 27+/-3] 

K (1) = 80.5; K (2) = 87.8

Calculations

1-ε = 0.6821; (1-ε²/4) = 0.974734898
 [√ (1-ε²)] / (1-ε) ² = 2.037835646  

G=6.673x10^-11; M (0) = 1.98892x19^30kg; R (0) = 0.696x10^9m

Then a = [R (m) / r (m)] = 22.23949045 x 10 ^ 9 m

V* (p) = √ [GM²/ (m + M) a (1-ε²/4)] = 77.26298km/sec

V* (s) = √ [Gm²/ (m + M) a (1-ε²/4)] = 84.4944913km/sec

And v* = v* (p) + v* (s) = 161.7574713 km/sec

With v° = v° (p) + v° (s) = 30 + 27 = 57 km/sec

And, v* + v° = 218.7574713km/sec
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Apsidal motion is given by this formula: 

W° (ob) = (-720x36526/T) {[√ (1-ε²)]/ (1-ε) ²]} [(v° + v*)/c] ² degrees/100 years

W° (ob) = (-720x36526/T) {[√ (1-ε²)]/ (1-ε) ²} sine² [Inverse tan 218.7574713/300,000]

             = (-720x36526/10.09) (2.037835646) (218.7574713/300,000)²

             = 2.8242°/ century = 0.026242/yr

U = 360/ 0.026242 = 12747 years 

Taking: v* + v° = 80.5 + 87.8 +57 = 225.3 km/sec

W° (ob) = (-720x36526/T) {[√ (1-ε²)]/ (1-ε) ²} 
Sine² [Inverse tan 225.3 /300,000]

             = (-720x36526/10.09) (2.037835646) (218.7574713/300,000)²

             = 2.995659677°/ century = 0.0299565967°/yr

U = 360/ 0.0299565967 = 12017 years Nahhas

U (observed) = 12,000 years

References: Go to Smithsonian/NASA website SAO/NASA and type:  

1- Lacy Apsidal motion Canis Majoris 1997 

9 - GG Orion Apsidal motion puzzle solution
	Primary →

Secondary ↓
	v°(p) ↑ v* (p)↑
	v° (p) ↑v* (p)↓
	v° (p) ↓ v* (p) ↑
	v° (p) ↓V* (p) ↓

	v°(s) ↑ v* (s)↑
	Spin=[↑,↑][↑,↑]=orbit
	[↑,↑][↓,↑]
	[↓,↑][↑,↑]
	[↓,↑][↓,↑]

	Spin results
	v°(p) + v°(s)
	v°(p) +  v°(s)
	- v°(p) +  v°(s)
	-v°(p) + v°(s)

	Orbit results
	v*(p) + v*(s)
	-v*(p) +  v*(s)
	 v* (p) +  v*(s)
	-v* (p) + v* (s)

	Examples
	GG Orion
	
	
	

	v° (s) ↑v* (s)↓
	[↑,↑][↑,↓]
	[↑,↑][↓,↓]
	[↓,↑][↑,↓]
	[↓,↑][↓,↓]

	Spin results
	v°(p) + v°(s)  
	v°(p) + v°(s)
	-v°(p) +  v°(s)
	-v°(p) +  v°(s)

	Orbit results
	v*(p) - v*(s)  
	-v*(p) - v*(s)
	v*(p) -  v*(s)
	-v* (p) -  v* (s)

	Examples
	
	
	
	

	v° (p) ↓ v*(s) ↑
	[↑,↓][↑,↑]
	[↑,↓][↓,↑]
	[↓,↓][↑,↑]
	[↓,↓][↓,↑]

	Spin results
	v°(p) - v°(s)  
	v°(p) - v°(s)
	-v°(p) -  v°(s)
	-v°(p) -  v°(s)

	Orbit results
	v*(p) + v*(s)  
	-v*(p) + v*(s)
	v*(p) +  v*(s)
	-v* (p) +  v* (s)

	Examples
	
	
	
	

	v° (s) ↓V*(s) ↓
	[↑,↓][↑,↓]
	[↑,↓][↓,↓]
	[↓,↓][↑,↓]
	[↓,↓][↓,↓]

	Spin results
	v°(p) -  v°(s)
	v°(p) -  v°(s)
	-v°(p) -  v°(s)
	-v°(p) -  v°(s)

	Orbit results
	v*(p) - v*(s)  
	-v*(p) - v*(s)
	v*(p) -  v*(s)
	-v* (p) -  v* (s)

	Examples
	
	
	
	GG Orion
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Data: T=6.6314948; m = 2.342 M (0); M = 0.2338 M (0); R (1) = 1.852 R (0); R (2) =1.830

ε = 0.2218; 1 - ε = 0.7782; r (1) = 0.0746; r (2) =.988 r (1); m + M = 4.68 M (0) 

And [v° (p); v° (s)] = [16 +/- 1; 16 +/- 1]; [v° (p); v° (s)] = [25 +/- 3; 24 +/- 3]; 

U = 10700 +/- 4500 years

Calculations 

(1-ε²/4) = 0.9877; [√ (1-ε²)] / (1-ε) ² = 1.57  

G=6.673x10^-11; M (0) = 1.98892x19^30kg; R (0) = 0.696x10^9m

Calculations

With v* (p) = √ [GM²/ (m + M) a (1-ε²/4)] = 95.6 km/sec
And v* (s) = √ [Gm²/ (m + M) a (1-ε²/4)] = 95.735 km/sec

And v° (p) = 16 km/sec; v° (s) = 16 km/sec
Then v* (p) + v* (s) + v° (p) + v° (s) = 223.335 km/sec
Apsidal motion is given by this formula: 

W° (ob) = (-720x36526/T) {[√ (1-ε²)]/ (1-ε) ²]} [(v° + v*)/c] ² degrees/100 years

W° (ob) = (-720x36526/6.6314948) (1.57) [223.335/300,000] ² degrees/100 years

W° (ob) = 3.45°/century = 0.0345°/year

U [years] = 360/[0.0345°/year]

U = 10,432 years Nahhas

U (observed) = 10700+/-4500years

References: Absolute dimensions and apsidal motion of eclipsing binary GG Orion 

Dr Lacy; Dr Torres; Dr Claret; Dr Sabby: 2000 

The time has come to send relativity theories and all four-dimensional space-time confusion of physics to the... 

10 - CD Draconis apsidal motion table:

Data: T=1.268389985days; m = 0.231 M (0); M = 0.2141 M (0); a = 3.7634 R (0); ε = 0.0051

And [v° (p); v° (s)] = [9.5 +/- 1; 10.0 +/- 1]; W° = 1.91x10-3/day 
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Calculations 

m + M = 0.4451 M (0)

1-ε = 0.9949; (1-ε²/4) = 0.99993498; [√ (1-ε²)] / (1-ε) ² = 1.01  

G=6.673x10^-11; M (0) = 1.98892x19^30kg; R (0) = 0.696x10^9m

Calculations

With v* (p) = √ [GM²/ (m + M) a (1-ε²/4)] = 72.436 km/sec
And v* (s) = √ [Gm²/ (m + M) a (1-ε²/4)] = 78.153 km/sec

And v° (p) = 9.5 km/sec; v° (s) = 10 km/sec
Then v* (p) + v* (s) + v° (p) + v° (s) = 170.117 km/sec
Apsidal motion is given by this formula: 

W° (ob) = (-720x36526/T) {[√ (1-ε²)]/ (1-ε) ²]} [(v° + v*)/c] ² degrees/100 years

W° (ob) = (-720x36526/1.238389985) (1.01) [170.09/300,000] ² degrees/100 years

W° (ob) = 6.731598944°/century = 0.06731598944°/year

U [years] = 360/[0.06731598944°/year]

U = 5348 years Nahhas

U (observed) = 5400+/-3200years

Einstein's and space-timers U = 360/ [0.00191x365.26] = 516 years

Can it get any better?

It is not just about dumping relativity it is dumping relativity and Alfred Nobel institution with it. 

References: Absolute properties of the low-mass eclipsing binary CM Draconis; 2009

By : Juan Carlos Morales; Ignasi ribas; carme jordi; Guillermo Toress; Jose Gallardo; Edward F. Guinan; David Chardonneau; Marek wolf; David w.latham; Guillem Angalada Escude; David H.Bradstreet; Mark E.Everett; Francis T. O, Donavan; Georgi Mandushev; Robert D. Mathieu and other 15 authors
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In his own words in 1985 article in physical review
[image: image19.emf]
[image: image20.emf]
Δ Γ (x) = - 2 t sine ² [(1/2) arc tan (v/c)] in seconds
Sodium has a refractive index of 1.58 or n = 1.58 = v/c

With t = 9.1micro seconds 

 Δ Γ (x) = - 2 x 9.1 sine ² [(1/2) arc tan (1/1.58)] in seconds = 1.4
All rights reserved
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